GET IT ON
Google Play

e 10154
201-4_ (II)
ST fasirT
7o gx
002 It : 200 %
SR

TR R @ ez g @ ;m.vmgﬁwm#ww?ﬂmsﬁw(zﬁ a7 'A'H + 50
9T 'B' + 75 511 'C' # ) 507 fwey ger (MCQRy v & / amgmst sy 'A' % @
afﬁ)mlsWW'B'#3SMWW'C'##ZSM$W?#§;zn?
ﬁwfﬁa#mwm‘aﬁvﬁvwmmww#IS.W'B'#3S R T
'C'#zsmmﬁwmwm; '

TSR, SRR THD SACTT T WA & | S e v s B E T forem @
memv%mwﬁgsg?wvws‘maﬁ#ﬂ— T IR

IS F gRaFT TTer

STl BT, forent amvat s owa, ST T B gl ot witer & 8w 2
W'A'WW'B'#mm$2W'C"#mm4af$w? | HeE Torer
I P FOIHE o3 25 % #1 7w & fr o |

------------------------------

25/55 CS1114-3BH—1A


https://www.adda247.com/?srsltid=AfmBOoqRk3UqfpnwDGIlqavz8sr8AMnaqqNchSHQUM30ClA6h9cVzI-5
https://play.google.com/store/apps/details?_gl=1%2A1uz474i%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

A
L Adda2tiz— .
ST ‘% / PART 'A' e atte il by

71,13, 17, 19,23, 29,510

L % = R&, 17 3R ¥ xR qpe o g? i.' gi

wﬁ.m?ﬁ;mﬁ?#mﬁ?m.

SH @ & ATE 30 F 4y e oz oEr oo | 3. What is the next term in the following
sequence?
X F AT Fq R
Eaisine & A hd1,13, 17,19, 23,29 ...
30029 4. 16 I 37 2 35
S | 4. 33
L. A certain day, which is x days before 17%
August, is such that 50 days prior to that day, 4. =T FTHA F 94-af gz =T )
it was 4x days since March 30" of the same L2 2203 3 dadaai e 44
yQar‘ What is x? ’ 3 ? ] L] ] ’ 3 ] t ? 3 ] ] ] ] t]
4,4, ...
R 2:-5:30
S 4. 16 L8 20559
3410 R o
2. YRy # g A g B &, g :
A ﬁg ™ 4. What is the 94™ term of the following
m@wwtﬁm‘rmrm‘rgm oRa sequence?
THIIGE, T E | AT B a5 I & 1 1,2,2,2,2,3,3,3,3,3,3,4,4,4,4,4,4,
mgﬁ#ﬂmwaﬁr@wmm 4,4, ...
qFF | et 24519
y J 310 457077
- : 5. W Y@ 5 A # s oaw o
gt # A & ARt 7 gefar &
kil 2. 48 i 0° J
390 o 7 — b
2. A mouse has to go from point A to B without RN : |
retracing any part of the path, and never §s;r | ! é
moving backwards. What is the total number I g J /_c
of distinct paths that the mouse may take to ? = e
01 MO AR
go from A to B? —t
lan  Feb Mar Apr May
" " PRt s a b
L Sl & o a% SR aur g & ame
AR Fedamef o |
A 2. 48 2amfr$rmaws‘l%rrmnq;damm
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3. yfer ¥ 7 aF SN & AW A 37U,
3 T # g0 & fREe & A
'{_]"ETT’-!TI

4. 7 @ur S & dra SET U g0 & AT

# e gRe g% |

The following graphs depict variation in
the value of Dollar and Euro in terms of the
Rupee over six months.
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Which of the following statements'is true?

1. Values of Dollar and Euro rose
steadily from January to June

2. Values of Dollar and Euro rose by
equal rate between January to
March

3. The rise in the value of Dollar
from April to May is three times
the fall in Euro during the same
period

4,  Values of Dollar and Euro rose
equally between May and June

6.mmmﬂﬂmmm%ﬁ;

f(N) =N @ 3 & AMGA &, o N
ZIAEE & A fdvenEd & | & &
T f(137)=1+3+7=11a f(273%5°)

F e
L 10 2. 18
3. 28 4. 1

We define a function f(N) = sum of digits
of N, expressed as decimal number.
eg f(A37)=1+3+7=11L Evaluate

F(@73888).

7. fF # qud HqER
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(. 10 2. 18
3. 28 4, 11

22 #r. Wl
HATAHFR S Teal @ arengr fRar
ST ¥ | T ATER ey wE H A 7
FA. T wE HY g ¥ | AeNeR A F
IO SEAT Teaw @ dtstE w7 B

"'*"»,

. 1l4m
3. 07m

A 2.2 m wide rectangular steel plate is
corrugated as shown in the diagram. Each
corrugation is a semi-circle in cross section
having a diameter of 7 cm. What will be the
width of steel sheet after it is corrugated?

. 14m
3. 0.7m

2 Tt & @9 AR g 4 T SN
g B ¥ | whuwAw ARE § vE e
¥ =t A Shger ¥ | AR IgEA FgAaA
@ o FAE o T HGAG IeaaA HqGr
S b ¥, o W & Wedt  Fo wE;w

& T &

1. 2B/b

2. <Ala

3. 2B/bTUT < Ala
4. <B/bTUT 2Ala
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8.

10.

10.

kL.

Two platforms are separated horizontally by
distance 4 and vertically by distance B. They
are to be connected by a staircase having
identical steps. If the minimum permissible
step length is a, and the maximum
permissible step height is b, the number of
steps the staircase can have is

1. = B/b

2. <dla

3. 2B/band< Ala

4. <B/band > A/a

U RN A W o W A 3w e A

foar ¢

1024, 640, 400, 250, ...

ATT & AT AT FI7 8
1. 15625

2. T 39
3. 64
4. 40

Every month the price of a particular
commodity falls in this order:

1024, 640, 400, 250, ...

What is the next value?

I. 156.25

2. Approximately 39
3. 64

4. 40

ﬁmﬁwaﬁ#%%—arw@aﬁh
. 1022121 g 204210
3. 3063126 4. 4083128

Which of the following numbers is a perfect

square?
1. 1022121 2. 2042122

3. 3063126 4. 4083128

e & 3 & g7 T o o O &
8IhE FAW § | U -, 30, B0 SER
e & :

11.

12.

12.

13.
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)15 = g 2. = Tzﬁ
3. n= Tz\jg 4, .= 27'2

The areas of the inner circle and the shaded
ring are equal. The radii », and r; are related

by

. n=n 2. np=r2
B =13 4. g Zi05

THSROT m?2-33n+1=0, STET m JAT n

qoits €, &

I IS g A& E |

2. S TF EA L |
3, O-3r% 2 g &)
4 Fadd: 7% ga £

The equation m? —33n + 1 = 0, where m
& n are integers, has

no solution

exactly one solution

exactly two solutions

infinitely many solutions

it il 2 oy

& R fham & de @z &t B amew
UG HAY # TEUEAS § uF saAd &
T ¥ WY @M E a3 ds
e |, nawrm | ww 3 @z 1 Ay
A & AR 5 ¥ 3H Tl TR FT
€ aw &fFd%d: @ET I ¥ dEy Row
HTROT-IS dF Wi ol § | IR & @3
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#r Aer$ o HAL ¥ A A3 F IR T gf
T

. 6¥H.&AT

2. 12¥.A.

3. 18¥.AY

4. 18F.FA. & e HOw

Three volumes of a Hindi book, identical in
shape and size, are next to each other in a
shelf, all upright, so that their spines are
visible, left to right: I, II and III. A worm
starts eating from the outside front cover of
volume I, and eats its way horizontally to the
outside back cover of volume III. What is the
distance travelled by the worm, if each
volume is 6 cm thick?

1. 6cm

2. 12¢cm

3. 18cm

4. alittle more than 18 cm

o, @&, d aqur &' 9, g,
FH & Jaeged: A¢ ¥ &@ F Aenears S
Fgl 5 A U TR A F | IS
Ffheeusr & WHEA qW TEAHF & T
# T ¢ | HiFSeTw A o G FE | W

afdd &1 F47 SUEG|TT AN
I ora-afEass, §8-3ffwmeas; oid-
AATETE; SE-AiateTe

2. HTI-WiERAE, FE-AEErs; de-
wafaf®; gg- wffweas

3. ¥og- AErs; 8- wfafaf; @
FFoaa; GF- dFAAS

4. Q- ArAETE; q- AfFFeT, -
wafafe, &e- afFss

Ajay, Bunty, Chinu and Deb were agent,

baker, compounder and designer, but not
necessarily in that order. Deb told the baker

15.

15,

16.

16.

17.
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that Chinu is on his way. Ajay is sitting
across the designer and next to the
compounder. The designer didn’t say
anything. What is each person’s occupation?
1. Ajay- compounder; Bunty-designer;
Chinu- baker; Deb- agent
2. Ajay- compounder; Bunty-baker;
Chinu- agent; Deb- designer
3. Ajay- baker; Bunty-agent; Chinu-
designer; Deb- compounder
4, Ajay- baker; Bunty-designer; Chinu-
agent; Deb- compounder

Yt y=2x, y=-2x W y=6% N
P o &l T § 2

1. 36 2, 18

3. 12 4, 24

What is the area of the triangle bounded by
the linesy = 2x, y = —2xand y =67?

1. 36 2. 18

3. 12 4, 24

IR N, E T T 9UF U qOits §, arfen
NxExT=2013 & & N,EdUr T&H 3=add

FHT G T F ¥ F=r 8

1. 39 2.
3. 675 4.

2015
671

If N, E and T are distinct positive integers
such that N x Ex T =2013, then which of
the following is the maximum possible sum

of N,Eand T ?
L. 39 2. 2015
3. 675 4. 671

o YafEt & Fie-ar Sssaw g § &
y,x & SoHAT I H B
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7
13 19. What is the maximum number of whole
laddoos having diameter of 6 cm that can be
¥ packed in a box whose inner dimensions are
24 % 18 x 17 cm*?

©.0) Fo 2 2= 30

3, 4, &l X 3. 33 4, 36
v\ (/ 20. T F TH GAT gHS T IER TH
@ Fecad e e R Rar | Hqw

_ NI H FIT HA Pemar =m

17. Which of the following figures best shows
. da-glurs ¥ 3w

that y is inversely prOportionnl to x?

1
X 2, 3mur

3. 3 # QI FA

4, 3T ¥ QI 30w

(0,0}

20. A cubical piece of wood was filed to make it

X
N o] into the largest possible sphere. What fraction
¥ ¥ of the original volume was removed?
. More than 3/4

1/2
Slightly less than 1/2
- Slightly more than 1/2

(0.0} X

PN P NG R

18. &% H&W @ oEew, 3T p Wiepicrn

ﬁ@ﬁﬁﬁrmﬂﬁ‘lmﬁrmﬁ@r mEIPART |B|

CRI
1. 1 ENN 2
3.2 4 4 |
21. e 9Raga F an # F2 W e
18. The sum of first # natural numbers with one YA 7 W FlF-T7 9T & :
of them missed is 42. What is the number that 1. W 9 arger & Rer g v
';vasnl‘ussed? o ; e o
3 4 4 SHAGEF IR T T G |
2. B U a%% FId TR YRR &F {4
19.7F T # Rowd saRs  oRamr IT UH-SR) e & W i
24 x 18x 17 g ¥ &, W@ o1 Ty = B 3THT IRage FT |
6 ¥A. ¥ 9 wEEH B 3o GEw w 3. TgEe O eF g Ranhw
+ : IRaee R IRaRka @ € 7 5
1 24 230 HEIFe Fawer amet qan |
3. 33 4, - 36 4. Toreeh yome sA e ey St

ZART WIURTE: AT qRafka g &
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21,

22,

22,

23.

23.

Which of the following statements
regarding membrane  transport is
FALSE?
1. Polar and charged soluteg will not
cross cell membranes gffectively
without specific protein carriers. 24
2. Each protein carrier will only bind '
and transport one (or a few very
similar) type of solute.
3. Sugars such as glucose are always
transported by active transport rather
than by facilitated diffusion carriers.
4. Ions are typically transported by
special proteins that form membrane 24.
channels.

W& # e ey PeTad a5
¥ &I (D)-H-TMEw (A)| FTEBSA
ey 3w Iggied g9 I D-H qur
A% &g & For g

1. <90° 2. 180°
3. >180° 4, 120°

25,

In proteins, hydrogen bonds form as
follows: Denor (D)-H---Acceptor (A).
Hydrogen bond is more favorable if the
angle between D-H and A is
1. <90° 2, S8l
3. >180° 4. 120°

28.

e fre A ORE § R
HATT T I, T 3/ IRAAA Soagd
qewexlt | q@r S & F=4r gem
1. 30nm #ATET T & SEET |
2. 10nm AR T @ S |
3. U& U3 dUT DNA Yt & qrer
e HEar # @ S
4. DNA If & urer e @ &
foar a7 & @ S |

26.

What will happen if histones are depleted
from a metaphase chromosome and
viewed under a transmission electron
microscope?

1. 30nm chromatin fibres will be observed.
2. 10nm chromatin fibres will be observed.

GET IT ON
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3. A scaffold and a huge number of

loops of DNA fibres will be observed.
4, A huge number of loops of DNA

fibres without scaffold will be observed.

DNA #r 0 ar g9 &R & &

1. &T&

2. &m& Rafy

3. 8R! & Y EEEIee ey
4. A-JEFERE

Chirality of DNA is due to

1. the bases.

2. base stacking.

3. hydrogen bonds between bases.
4. deoxyribose

HARFET 3eUTE TeongAr FH IO &

Ay 5 R e ¢

|, UrallgA & WY HeHdIoend &y
Zanr |

2. UeoNsH EIUT & IRac can |

3. T Branhe Tue W a1 |

4. TRUTUR & |y UF WIEAY T |

Reaction products inhibit catalysis in

enzymes by
1. covalently binding to the enzyme.

2, altering the enzyme structure.
3. occupying the active site.
4, form a complex with the substrate,

YISO # o HREHIReHIor

F e Wefa-ares a0 Jfad 8 ar &

1. ®fEgs et & O g &
fafasa @anr |

2. IHRBreay e & e Weiar
9T W |

3. GIASROEHT F I IR
Jitgat & 97w

4. ATP'& -39S EaRT
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26. Proton motive force during oxidative 20,
phosphorylation is generated in
mitochondria by

1. exchanging protons for sodium ions
2. pumping protons out into
intermembrane space
3. pumping hydroxyl ions into the
mitochondria 29.
4. hydrolysis of ATP

27. wHAFenEH FUEEOT § a8 F FY
T AT FUAl & & Sla-A1 & q6 30.

st &
. mRNA WX REFAH HEUw TS

Frereh TEEATN ITHH FET § |
2. WRS® tRNA ¥ tRNA/ ™™ |
3. rwE UfAA-aee € AR |
4, TURAIEROT OTF ¥ eEF2 |

27. Which one of the following statements
about eukaryaotic translation is NOT true?
In eukaryotic translation,
1. ribosome binding site on mRNA is 30,
called Kozak consensus sequences.

2. initiator tRNA is tRNAS "™,

3. initiator amino acid is methionine.
4, translocation factor is eEF2.

28. wiastor § NW, RNA 3U#@#HE SHET

5'—=3' tHgfeedy ARy g@nr
HawIea g §

. RNase Hl(ribonuclease H1)

FEN-1 (flap endonuclease 1) 31.
Topoisomerase II B

DNA polymerase y

AW

28. During replication, the RNA primer is
degraded by the 5 — 3’ exonuclease
activity of
1. RNase Hl(ribonuclease HI)

2. FEN-1 (flap endonuclease 1)
3. Topoisomerase [1 B
4. DNA polymerase y
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rRNAs & AU U TEAfas aiads
8d & I A BI HRHT RNAs

FEATE &
1. ScaRNAs. 2. SiRNAs
3. Sno RNAs. 4. SnRNAs.

Small nucleolar RNAs used to process
and chemically modify rRNAs are called
1. ScaRNAs. 2. SiRNAs.
3. Sno RNAs. 4. SnRNAs.

TC WIRSINA GReiadr & 30T A
T Foler # FE AR el g
¥ aw & Ieedl ¥ WA §F W
HTNETHT RNA FAI & | & oot
T NS 5H YHHAT @Y B ¥ |

1. fawmedt FAEUS

2. GRYET HAGUA

3. @uF

4. RNA H9Test

Leader sequence in some of the protozoan
parasites is transcribed elsewhere in the
parasite genome and gets joined with several
transcripts to make the functional RNA. The
joining of the two transcripts occur by the
process of

1. alternate splicing.

2. trans splicing!

3. ligation.

4. RNA editing.

FEFAO & R A Ry e et
# @ Fla-wr w@ a@
1. EAOT [ # WEIwE & wiafeg
3o¢ Yal & doee g gl
2. AYFEAT I F HEIHUHT & ARG
3 YEr § Hoed g §l
. Qe 1 # s & fHAr g g
4. IEFAOT [ A FHA IORE
e g
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31

32,

32,

33,

33.

10

Which of the following statements about
meiosis is NOT true?
1. Kinetochores of sister chromatids

attach to opposite poles in Meiosis I.
2. Kinetochores of sister chromatids

attach to opposite poles in Meiosis II.
3. Chiasma is formed in Prophase I.
4. Homologous chromosomes are

segregated in Meiosis L.
sRacas & gftaa  3iferievor-3mraas 34.
It @ e §
1. @l Breen
2. Iais Bea
3. Rfenr siau
4. DiSHE Fawra
In chiloroplast, the site of coupled
oxidation-reduction reactions is the
1. outer membrane
2. inner membrane
3. thylakoid space 35
4, stromal space ’
el U A UFEREF WEen &
R 2@ I AT, UF Goddh e
& & Gorhl A TsA-YaHT Fgelal ¢
1. fEaRor
2. e
3. Jadae ks
4. 3erdrefeor 1

The splitting or migration or one sheet of
cells into two sheets as seen during
hypoblast formation in bird
embryogenesis is termed as
1. delamination
2. ingression
3. involution

X i 36.
4. invagination

Ve [T §q IpHiAC geandt #
HNTHT §, Sel 3T df¥w 9fer
FETSTATN I Pax 6 F WAV §F Fhel
&l §, S 3 9w o AW S Ay
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giesr ¥ sewl wE & R st
aET Forar & e gat # @ eww
U5 ASSAH SATETAT g &7

. AT 3l Iaeafpard |

2. IYFA-AEATH Ied=afmard |

3. AT HEAAnRAry |

4, 90T TYUT &THET |

Lens formation requires sequential events
whereby the anterior neural plate signals
the anterior ectoderm to promote
secretion of Pax 6, which renders the
anterior ectoderm more receptive to
secretions from the optic vesicle. The
above can be best explained by which of
the following phenomenon?

1. Instructive interactions only

2. Epithetial — Mesenchymal interactions
3. Permissive interactions

4. Induction and competence

g N9 vH YAHEASEF  IgM, SDS-UITR-
¢, &R& wRwes wgftaa  gfada
yfawefr & sTahT FX& U aieoT
1. 9rg 2. TR
3. 4, UTH

If you run a pentavalent IgM through
SDS-polyacrylamide gel electrophoresis,
how many bands you are supposed to get
by Western blotting using alkaline

phosphatase ~ conjugated  secondary
antibody?

1. Five 2. Four

3. Three 4. One

ER'/PR' Tda1 & arell Te {afr, 3thwer
¥ WY gt B Sefn uE gEh W W
SUHT AT AT W I | 3 gy Wh &
e e F @ S @ Assaw swEr
grem
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37,
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38.

1. ereuhHdl, TEIAT HER-2/neu
afeag 3wy

2. f3-m07 (ER /PR /HER-2) &1 &Y
T T Flaarer T ey

3. fafeRor, agueaE Awy T,

4. UeafRdr, deuvard AT fafetor

A patient with ER"/PR" breast cancer
was cured with a drug “T’, whereas a
second patient did not respond to ‘T".
Which one of the following is the best
therapy that you should suggest for the
second patient?
1. Surgery, followed by HER-2/neu
targeted drugs.
2. A drug that targets triple negative
(ER /PR /HER-2") breast cancer.
3. Radiation, followed by drug ‘T".
4. Surgery, followed by radiation only.

TABRAHAITASRT  Wd: WAt &
Yy SE Sna §, WicOvdEee &
Ao & v | T & ¥ S| T
T EC G T e T )

. Hyaluronan
Aggrecan

Betaglycan
Syndecan-1

b L B e

Glycosaminoglycans are usually linked to
proteins to form proteoglycans. Which of
the following is NOT a proteoglycan?

1. Hyaluronan

2. Aggrecan

3. Betaglycan

4. Syndecan-1

$C T- FWH0], Fiase W9 W, T-
FH TizEs ORT A T T
e FRF & WAV g@nT Fehear
A §, T W VR ARl T
FHEt fr FEar SgrEw gfoReT
IR W WS F & | TE FHe
TS 3SR &

‘38.

39.

40.
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1. Fewrd Hehae

2. URETE! Hhae

3. ¥ WAl e

4. afes dhada

Some T Ilymphocytes respond to
antigenic stimulation by synthesizing a
growth factor that causes T cell
proliferation thereby increasing the
responsive T lymphocytes resulting in
amplification of the immune response.
This is an example of

1. endocrine signaling.

2. paracrine signaling.

3. autocrine signaling.

4. cyclic signaling.
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Which one of the following is NOT the
main factor that contributes to -water
potential during plant growth under
normal conditions?

Solute potential

Hydrostatic pressure

Gravity

Temperature
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Light is the dominant environmental
signal that controls stomatal movement
in leaves of well-watered plants grown in
natural environment. Which one of the
following wavelengths of light is
responsible for such regulation?

I. Red light
2. Blue light
3. Green light

4. Far-red light

mm%mtm#aﬂ#

7 ™ e Fuwt F ¥ Fear @@

dt &

. 3T ABA dUT 39 ATEHFT GA
& wyied #r drs wwa € |

2. 3T9 A9 gFd T drer gy @
A3 waar ¥

3. g S # GA, TH-IqTEHT
TeSTEAT & AW Y WRT Fear g

4. Fafgrsdet qur g NE Fr
IEFoT A Wy & R &
T 9rwor @ St wew Far & |

Which one of the following statements

regarding seed germination of a wild type

plant is NOT correct?

1. Low ABA and high bioactive GA
can break seed dormancy.

2. Light accompanied with high temp-
erature can break seed dormancy.

3. GA induces synthesis of hydrolytic
enzymes in cereal grains '

4.  Degradation of carbohydrates and
storage proteins provide nourishment
and energy to support seedling growth.
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The group of cells of amphibian blastula
capable of inducing the organizer is
called as

1. Hensen’s node

2. Nieuwkoop centre

3. Dorsal blastopore lip
4,

Hypoblast
e # @ Rewd srefeen o X
FHIfEHETAT (ACTH) T 3e9TesT avar &7
. Jag o
2. FRITY Rogy
3. T Rvge
4. TEAEy f{vay

Production of excessive amount of
corticotropin (ACTH) occurs in which
one of the following:

1. Graves’ disease

2. Cushing’s syndrome

3. Grieg’s syndrome

4. Alport’s syndrome

gFn ey & ity e st

# { Flad I FETa gaRT TEdEd

frees @1 e = wd i

L ey

2. THTATH HIRBIE T TG0
FHrferenrt

3, AFAA SRYE # ided Ay
FIRR

4. Awiorad PR

Which one of the following cells in the
renal corpuscle can influence glomerular
filtration by its contraction?

1. Podocytes

2. Endothelial cells of glomerular
capillaries

3. Parietal epithelial cells of Bowman’s
capsule

4. Mesangial cells

YAR-1 B TAAERE FREET S dEr
WRI # ufRm & & o



https://www.adda247.com/?srsltid=AfmBOoqRk3UqfpnwDGIlqavz8sr8AMnaqqNchSHQUM30ClA6h9cVzI-5
https://play.google.com/store/apps/details?_gl=1%2A1uz474i%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

450

46.

46.

47.

47.

13

mm*mwmﬁma‘
| o & ¥ e it &
2Rt orwrer Smar &

1. Serotonin 2. GABA
3. Dopamine 4. I3

The type-1 glomus cells present in the
carotid bodies contain granules which

release some substances during hypoxia, 48.

Which one of the following is released in
hypoxia?

1. Serotonin 2. GABA

3. Dopamine 4, IL8

URY AT $E-3-00RF e (IAA)
HUHR areut F suRRm ¥ 23]
HAFT i WU By o= et
¥ FE-d geEfta &

1. ToEiAT I+ .

2. vHYesE e
3. W
4. TrERYGE

The plant hormone indole-3-acetic acid
(IAA) is present in most plants. The
structure of this hormone is related to
which one of the following amino acids?
1. Glutamic acid

2. Aspartic acid

3. Lysine

4. Tryptophan

ﬁm#%%‘t:r-m,hﬁﬂﬁgmrmh
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Which one of the following is NOT a
characteristic property of carotenoids?

49
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1. They possess complex porphyrin
i

2. They are integral constituent of
thylakoid membrane.

3. They are also called accessory
pigments.

4. They protect plants from damages
caused by light.

WO g A wad & e
BTRS TUT IS H IS FH S
3R AT [T W #F 7o wT B
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Individuals with greater mass have a
smaller surface area to volume ratio, which
helps to conserve heat. This is known as

1. Leibig’s rule.

2. Cope’s rule.

3. Gloger’s rule.

4. Bergmann’s rule.
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HF S a b" ' qW F St a bc wiet &
9 UF ad FH OSERT R oo
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10 min a b c

20 min a b ¢

30 min a b ¢
I IRF S #7 & we T £
L. laibic 2. we.adb
3; bimic 4, ach

An interrupted mating experiment was
performed between Hf St” ¢ b* ¢ and
F St a bcstrains. The genotype of
majority of streptomycin resistant (St
exconjugant after 10, 20 and 30 minutes of
interrupted mating is given below:
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10 min a b e
20 min a b ¢
30 min a b'c

The most probable gene order would be
l. abe 2. cab
3. bac 4, ach

SRR UF A& IHe[ST &, ST DNA
# wafase Y @W W ScaRaae

FROWT #T Foam & | e & { @l @
yferwRes oRade & & S-greEngutae

AR AT &2
1. T:Ato C:G 2. TAto AT
3. GCtoT:A 4, C:Gto AT

5-Bromouracil is a base analog that can
cause mutation when incorporated into
DNA. Which of the following is the
most likely change that 5-Bromouracil
induces:

1. T:AtoeC:G 2.
3. GCtoT:A 4,

T:AtoA:T
C:Gto A:T

@7 Gorae @ wigdt & HEr R
S ¥ | T el I SeqREce &
FROT 3Efaa @ & @ F, §dfd &
T W § | 5@ F, e
STar ¥, oW U4 &F Al Fedrer
gafaal & S § | erer-Ge arer aur
@-Toe ATy Wedt A e T 7

1. 1:1 2} 3:1
3. 97 4. 15:1

Two plants with white flowers are
crossed. White flowers arise due to
recessive mutation. All F; progeny have
red flowers. When the F, plants are
selfed, both red and white flowered
progeny are observed. In what ratio will
red-flowered plants and white-flowered
plants occur?

3. 1 2. 3l
3. 97 4, 15:1
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1. 1/16 2. 118
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The following pedigree shows the
inheritance of a common phenotype
controlled by an autosomal recessive
allele. The probability of carriers in the
population is 1/3.

O

1

v
2
i 2
1 2 3 4

1
What is the probability that a child from
parents II-3 and Il-4 will show the

phenotype?
1. 1/16 2, 1/18
3. 1/36 4, 3/16

o Frat & ¥ Sl owsAT NEA
g Jmferer T &7

1. T YFH

2. O, uREgs

3, 3faEE Eud U9 IRaEd

4. T&d #1 3HY FiaUye &Har

Which one of the following functions is
NOT served by the plasma proteins?

1. Blood clotting

2. O, transport
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3. Hormone binding and transport
‘4. Buffering capacity of blood

ol Iwawatnar, S geatforar

FEOTAT ¥, TR TETEI

1. R e 7t § @ ameee
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2. AT AT H Gl Aemoy

3. AWCY &d ¥ 9N Afpd aar
AET AT

4. TH WA T F FTH W TERT
fdE 9ey

An example of the species interaction

called commensalism is

1. nitrogen-fixing bacteria in
association with legume plant roots;

2. microbes in living human gut.

3. female mosquito deriving
nourishment from human blood.

4. orchid plant growing on the trunk of
a mango tree,

FlF-AT WEA, N Y-7ET F T §HY F
e RfRT 7Y o «w, AT & i

Th TSI HLm?

High

”
Low
Low Laeneration time High

1. 3cateniaar
2. R AT
3. Sfrgsrer
4, T Fr afs afy

What parameter, plotted on Y-axis
against generation time, would yield the
curve shown in the figure?
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1. Survivorship

2. Body size

3. Lifespan

4. Intrinsic rate of increase

fre afET & 91 yawE v ey
IR Jeafts Apeaqur &

sier

. HERIE

. ISUTHICag quT gl
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In which ecosystem is the detrital
pathway of energy flow most important?
1. Lakes

2. Grasslands

3. Tropical rain forests

4. Oceans

ﬁ?ﬁ'ﬂ;&mﬁmm?ﬁa‘fﬁn@a’r
yeHueh w4t f TEw F Reees
i

1. e 2. fEar

3. offa=s 4. SHfsrger
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During which geological period was
there an explosive increase in the number
of many marine invertebrate phyla?

1. Ordovician 2. Devonian

3. Permian 4. Cambrian

e & @ wia-a, Sig @ s affih
FHE 1 FEAG
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Which of the following is a correct match

of the animal with its taxonomic group?

1. Hirudinea-Leech; Chelicerata-Horse
shoe crab; Cestoda-Tapeworm
Echinoidea-Sea urchins;
Cephalopoda-Octopus; Oligochaeta-
Earthworm

2. Hirudinea-Earthworm; Chelicerata-
Horse shoe crab; Cestoda-Octopus;
Echinoidea-Tapeworm;
Cephalopoda-Earthworm;
Oligochaeta-Leech

3. Hirudinea-Tapeworm; Chelicerata-
Leech; Cestoda-Tapeworm.
Echinoidea-Horse shoe crab;
Cephalopoda-Earthworm;
Oligochaeta-Octopus

4. Hirudinea-Leech; Chelicerata-
Tapeworm; Cestoda-Earthworm
Echinoidea-Sea urchins;
Cephalopoda-Octopus, Oligochaeta-
Horse shoe crab.
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Schizocoelous coelom formation, mouth
formation from embryonic blastopore,
spiral and determinate cleavage are
characteristic of

1. deuterostomes.

2. pseudocoelomates.

3. protists.

4. protostomes.

I I wY & g Wl &
FAT RS & | FIifE waeemer # @ed
TN Yoy §, YLEROT &G Y Sy
U F IUAT FX Fohd &1 37 FAT
FI IYART F&h FET A EIRT o] fFH
o] & 39 W @ Rfgaa wEe
1. GST 2, RfEd=
3. fewarf@e 4, e

You want to purify a recombinant protein
of your interest. You can use affinity
chromatography to purify as you have
nickel columns available in the laboratory.
With what molecule will you tag the
protein to purify using those columns?

1. GST 2. Histidine

3. Histamine 4. Proline

el & 9@ JUr FHIAGS] F GE 59 vy

& gfafaftes &
L. Iqarr fasm
2. HiFRE R
3. AR fae

4. 3erde e

The wings of insects and the wings of bats
represent a case of

1. divergent evolution.

2. convergent evolution.

3. parallel evolution.

4. neutral evolution.

yonferdt & g e R &g o
Tq ot [UTFARINT FH IGLNT FeAaTe
Yol RO &7 87
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62.  Which  species concept utilizes 1. 02§ 2. 015
morphological and molecular characters to 3. 087 4. 040
distinguish between species?
1, Eyolutionary 2. Ecological‘ 65. The population density of an insect
3. Biological 4. Phylogenetic species increases from 40 to 46 in one
month. Ifthe  birth rate during that
6. HOW UF 3% st & v F s period is 0.4 what is the death rate?
T 3 sRor 5 0w Py
I. 918 UF aga & ey &y qoeT F
I ¥ 66. 2 18-3rafrT FEfT YwerEs Amr B
z mwﬂatmiﬁra_ﬁm# ﬁﬁnwﬁlsw#mzwmw
w7 E ST Fehar ¥
3. m#nz'rma:mtm%a 1 mMALnlamﬁmﬂaﬁam
4. WEE #r HEar o fni & 2. So-faued, aguears MEAam Rrvdwor
3. UsA«g ggfa ca Haﬁﬂﬂl
63. The degree of genetic relatedness between 3
the offspring and their parents is 4. Feh T gfavter & qdtmyor i
1. higher than that between sister and
brother. 66. Two 18-residue helical peptides A and B
2. lower than that between sister and are enantiomers. They can be
brother. distinguished by
3. the same as that between sister and 1§ recordmg their MALDI mass spectrum.
brother. 2. hydrolysis followed by amino acid
4. dependent on the number of siblings. analysis
3. sequencing by Edman’s method.
64. P W- T T S E 4, exmniningtheircirculardichroism spectra
m,-mﬁma:#mmﬁ 67, aﬁwel‘fﬂm‘rmmmgﬁ
e a;u R T T O oqE ve Rfie
Frecere Hissmmsmictibiond Vs s,
: T e ¥ W o A ¥ A @ vy
3. #e aor 4. 9o agor  3ET FET TRw
64. Worker bees, instead of themselves :]2 gg :
reproducing, help the queen reproduce, 3. fMRI
This behaviour js explained as an 4. Patch-clamp
example of
L. kin selectior{ 67. If a researcher intends to identify a
2. group SEIECHPH specific brain area activity linked to a
3. sexual selcctlpn cognitive function in human subjects,
4. natural selection which one of the following techniques

should be used?

S/55 CSi/14~-3BH—24
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I. CAT 2. MRI 1. Protein A-FITC
3. MRl 4. Patch-clamp 2. Protein A-Sepharose
; 3. Biotin-FITC
68, TS Wawer R (FISH) ¥ wfadifed & 4, Avidin ~FITC

R e st F ¥ Fi w wE aE ) ;
70. WG & HEEA # g7 FAET FAgeA

82 ;
| WA & EEe ¢ ok sl ar ¥ | pRAT *E@Mm‘gﬁm
Tiemfly qpewEelt Fv Fwh fan S ¥ 3t Haeie S T T E
; 1. 3FANSTT FFgEmdr
¥l _
2. FfdeTsE! & Uw RfEad e 2. HUGAR TR
T T far oer ¥ | 3. gl FpE
3. R sRdRd Rt scR @ 4. wieAe T
SIS ¥ | 70. Lower limits of detection by sensors is
4. Uw AT @Hhd & 37 P FTET important. Which method of detection is
¥ FIT UF TG WETAT FEH @I more sensitive than glass electrode used
. for pH measurement?
A ¥ 1. Absorption spectroscopy
. 2. Refractive index
G8. Which of the following statements is 3. Circular dichroism
INCORRYCT for fluorescence in situ 4. Fluorescence Spectroscopy

hybridization (FISH) technique?

1. A fluorescence or confocal microscope
is used for detection of signal

2. A labeled sequence of nucleotides is 8IeT e/ PART ' Q__'_
used

3. Specific fluorescence tagged
antibodies are used

4. A stringent washing step is essential to W’ T WA
remove appearance of non specific e i e f, e 1
sl T AqUEOTed 3eHA A, wERd 39
e ® 3fafEse WA & RUERISIT]
€. fug @Rt F e A W & G & 3T aWF, TR O ORaEd
ﬁwﬁ:mﬁﬁmwm#aﬂé magmqamzﬁrwﬁﬂmmm
i wfeed, o wRdfa W ¥ R aRageT s @ I, Bed e
fw f Ty A ¥ e AR & @y W INE A, TU AN TRAM,

wla-r Qe wE & e A 8 O # Ade K & #Y 3
1. Protein A-FITC e -
2. Protein A-Sepharose fear ar @ far ¥ ¥ A
3. Biotin-FITC Tt A qREAET F A e &
4, AvidinFITC q¥ SY&W T SDS-PAGE W et fkar aran
69.  In an experiment to detect a new protein Fur WRERCMRET o |
in fixed cells, no secondary antibody s sty e g t
tagged with fluorescence dye is available. =@ ST S F HUR R By Tt

What should be the best choice out of the
following to detect the protein?

# ¥ Fa-ar 7h T

/55 CS1/14-3BH—2B
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A newly identified Sequence was experimentally
tested by in vigro transport assay using a
radiolabelled protein containing the sequence to
test import into mitochondria, Transport assay
was done for a short time with or: without
membrane potential and after the assay, the
mitochondria were either treated or not treated
with proteinase K. At the end of the assay the
mitochondria were pelleted and total protein of
the pellet was isolated and separated on SDS-
PAGE and autoradiographed. A representative
autoradiogram is shown below. Based on this
experimental data, which of the following
Statements is NOT correct.

=i T
: + - + +  Mitochondris
: + -_ + — T membrane potantisl
= = 0 + 4+  Protsines K
1. The protein goes into the matrix
2. Not all of the added protein was imported
3. The protein requires membrane potential

for import
4. The protein is associated with the outer
mitochondrial membrane
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1. e fvafas

2. RBRw wftew

3. RNA"feRYs I

4. TATA 9YT &R&

A gene producing red pigment was placed
near centromeres of fission yeast and thus
subjected to position effect variegation and
produced white colonies. A screen for
mutants that increased the red pigment
production was undertaken. Which of the
following genes, when mutated, is likely to
produce this genotype?

I, Histone deacetylase

2. Histone acetylase

3. RNA polymerase II

4. TATA binding factor

T UF ey Breeh 3 3w
t(ﬂﬁlmmm@m#rmm#
BY) T ¥ Qw-AfaT showaTom & e
U R & X 39N W owea E s
ot & feregor ¢d fmEs wanr
WMWIMWQ?W
Bgm-#gﬁ'mmmmm?w
SRfeaRa BEde  (UMP: -3
UMP & 318 ¢ srifeetee, aur ag
wiadras B ¥ afe R omar 3 od
HIRE, ¥eT-HYAT T A 10 mM Tris
SHIfAS FaoEe & PH 74 X &, wfy
TE & AT 8) & B o & afr
fodeh et & Rt ofw B
mf%mmma‘rtrﬁmfﬁmmﬂ:
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L fAsor @ geamERe  fear S b
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In order to prove that liposome can serve as a
model membrane (mimicking cellular plasma
membrane) and can be used as a target for
complement-mediated  immunolysis,  an
experiment as below is designed. To initiate
such experiment, hapten-conjugated
liposomes are made and loaded with
umbelliferyl phosphate (UMP; hydrolysed
product of UMP is umbelliferone and is
fluorescent). Such loaded, hapten-conjugated
liposomes in 10 mM Tris buffered saline, pH
7.4 were mixed with anti-hapten antibodies
and fresh guinea pig serum (as a source of
complement) to induce immunolysis of
liposomal membrane. To quantify only the
membrane lysis component which of the
sequences  below _is MOST

appropriate?

1. Mixture is ultra centrifuged and the
supernatant  reacted = with  alkaline
phosphatase and fluorescence measured

2. Mixture is sequentially reacted with
phospholipase and alkaline phosphatase
followed by fluorescence measurements

3.  Mixture is directly subjected to
fluorescence measurement

-4, Mixture is treated with Triton X-100 and

fluorescence measured

F S &, T cis-TMeelt # wfed a
BEEINET & Aelel F TS Hled TUH W
fafre sERRdETTr & v Sew B
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UF oFT Wl JcqRacer & gorw
shar & 5% Iafads & aiomR #r e
g sum R ¥

A, TEAFHY WISHEAT TeosAr ¥ W ghn
B. ®TsEraHT TeargH afpafad R smda
C. wfFgeT # smaad womss

AR B
i Icuftadt & sre-emaas wasfa aff
ar scafEds & oRome & s P A @
FIF-HT ®UA, AT HYST F GG FI0?
. AJWC 2. BaWrC
3. AIFC ' 4, ATUB

A null mutation is created in a gene which is

responsible for specific phosphorylation at 6™

carbon position of mannose on acid

hydrolases occurring in cis-Golgi. The

following statements arc given towards

explaining the effect of this mutation:

A. The lysosomes will be devoid of
lysosomal enzymes

B. Lysosomal enzymes will be secreted out

C. Lysosomal enzymes will get localized in
cytoplasm

Which statement or combination of

statements will explain the effect of mutation

if the acid hydrolases in the mutant do not get

degraded?
l. AandC 2, BandC
3. Conly 4. AandB

UR IMEATCONSAl & Ueall3H Wad A9
few 3 &

ISATATSH K, ATSHATIR Vs

A 0.1 15

B 1.5 45

C 4.0 100

D 0.01 10
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7S. Enzyme parameters of four isozymes is given

below:

Isozyme K, micromolar Vinax
A 0.1 15
B 1.5 45
c 4.0 100
D 0.01 10

These isozymes are localized in different
tissues. In liver the substrate concentration is
0.2 micromolar.

The liver isozyme is likely to be
. A 2. B
3. =C 4. D

76.mmm$mmﬁm¢
i!mmra:;ﬂmaﬁmmaﬁmm
marﬂm#mgéﬁ

B
Bound A
Bound/Total
o= Ft & St HE B

1. A Uh FEeIoH W8T & Igger @
AU B UF THahl SOF & Iqghr ¥
9T T3]

2 B U U7 WEERa ar@ 9w &
39T F 97T T

3. ATIT B & W87 & 3qamr @
W O3 AT F Ry

4. UIREH B Hag w8t ¥

76. Binding of two ligands to their binding
proteins were investigated. Following
binding isotherms were obtained.
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Bound/Total

Which of the following statements is currect?

I. A is obtained with an oligomeric
protein and B is obtained with a
monomeric protein

2. B is obtained with protein with positive
cooperativity

3. A and B were obtained by the same
protein at two different temperatures

4. The profile B is not possible

77. & e (P) T& v& arwrh (T) & 2

77.

mmmmﬂﬂlg

mﬂﬁﬁmmwwqﬁh

SRR (CD) & Hthw fRr amm R

WaToT fRd a3y -

A Pau T W& & D wegr s
A O |

B, 39 AE-aea waew 95% uw
AT A

C maﬁrmﬁuﬁmmﬁ#
TTPaE ts S e 3ue &
fore gosmen ¥ |

D.| P#HI goar # T & A fgas &

TR 7 g #

T# aftfa Ruazar & Fwror &

. 9Rafda gfada dwaar

2, Tﬁmmﬂﬁﬂw#q%
3. STRleOT S & gt

4 mﬂqﬁﬁﬁw#qﬁ

Two homologous proteins were isolated from
a psychrophile (P) and a thermophile (T) .
The purified proteins were subjected to
denaturation, protease di gestion and circular
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78.

78.

79.

79.

dichroism (CD). Following observations

were made :

A.  The CD spectra of P and T proteins are
identical

B.  Their amino acid composition is 95%
identical

C. T and P are equally susceptible to
proteolysis in the presence or absence
of reducing agent

D. T has higher midpoint of thermal
denaturation than P

The reason for enhanced stability in T is due to
[. . Altered secondary structure

2. Incrcased number of disulfides in T

3. Increase in water of hydration

4. Increase in number of salt bridges

8T & DNA Siw-3qufed «&f gar, sefe

RNA 3TN § So-3qufed &ar g1 sae

AT FROT &

| DNA #r zfagosfae svaar

2. RNA # gieder & 3ufdufa

3. RNAH @ S« a0 o&or, ofy &
FAH-GTT FIGATT

4. RNA & 2-0H ®#p # 3uiyfa

DNA is not hydrolyzed by alkali whereas

RNA is readily hydrolyzed. This is due to

1. The double helical structure of DNA

2.  The presence of uridine in RNA

3 Due to features observed in RNA such
as stem-loop structures

4. The presence of 2'“OH group in RNA

TRRW-(Ala);-CONH, f&eaa # o-Fosfoelr
wwor 3 favgaw €1 d% & gfRaw @r

(¢, v) FTOFHAT g

[ -60°-30°

2. 60°30°

3. -60°-30° (50%) T7UT 60°,30° (50%)
4. -80°120°

Acetyl-(Ala),s-CONH, exists in o-helical
conformation in solution. Most of the

backbone dihedral angles ($, ) will be
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. -60° -30°

2. 60° 30°

3. -60°-30° (50%) and 60°, 30° (50%)
4. -80° 120°

w‘rﬂ:ﬁﬁwmrsganiwﬁsqugaﬁﬂr%

(~1000 a%)| foesr Fuat # ¥ Fhaar, dezEz

na i R & wed A wf aft b

I SW-¥9uea @ qFT S w70 K|

2. FW-3VHEA A HFT IO UW wF
8 ¥

3. m—muﬁ?rmqrqgﬁa?ﬁv
UR A A Fer-OftEr @@ ¥

4. 100°C 9T 6N HC| Z@ART YIF3 Iy
S-yqafea frar ST wwar &

The lifetime of a peptide bond in proteins is

very large (~1000 years). Which statement

below is INCORRECT with respect to

stability of the peptide bond?

1. The free energy of hydrolysis is
negative

2, The free energy of hydrolysis is
positive and large

3. The energy barrier to be crossed to go
to the hydrolyzed state is large

4. The peptide bond can be hydrolyzed by
6N HCI at 100°C.

W v Rutf & uE wy &y
dPwemar &, Dwe At vy
Wafes 3w & I 9 afF =
FNFT Aseer S FTU| Uy ey &
WA FqEUERA A 9 R SR
fnfse g¢ aw stww e s
faurelt & =T HRoT SRga R
A el B O W T A ot
& 3T ¥ shwy A AT 7@ @
o o
B. 3wy & 3mAw e f o Wi
3EH AN SToraEl an|
C. 3wy e et & v aft o
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e forsnfaar & 9ifs SR swEg
A 5 @ e &

. ARC 2. ATW C
3. ABEWC 4. A B

81. A pharmacy student designed a drug to
specifically target the receptors for retinoic
acid in order to prevent stem cell
differentiation. Afier in vitro trial, the
investigator found that the cells underwent
differentiation and the drug seemed o be
ineffective. The following reasons were given
by the student
A. The size of the drug exceeded the size of
molecules that could cross the
membrane

B. The drug was small in size but
hydrophobic in naturc

C. The drug did not bind to its receptors

Which of the above could be the probable
reason for drug ineffectiveness?

1. OnlyC 2. AandC
3. A BandC 4. OnlyB

82. t% Muwd T fvw oy & cafeadr @
FaToy HsheAOT garT wfeRfera aen A o |
Muwdt & foosr oAt & @y @ e
TFR & & Rwfa $i:

() 59 R A Fr Gt St v Ry i
¥ fov famifee &, cafdear @ & smeh
§, @ aoar Jrefafee Sfshdr s
e #3d €, Jeaer sferemr sy
¥ WY | FHfAT 3HR gy AT
& & =R |

(i) 5@ 9 B & &, S v Ry ware
& v Rtz ¢, cafaat # & sk
¥ @ TFAT & FAw daRe wiashdr
Fefar Rl a8 = o, W @
Forarer gfovelt wyfer el o & |
R & F 2 Ry W Vi G
F-2 o) TUT V2 (AT F-15
e v wwfaa v £ frst
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I gt F ¥ she-ar souan ufawer &
THar &7

1. VIfafse w&R A gt vi Rftise e B
2. VIfaRre &R A qurvz fafis g1 5
3. V2T gdR A @ vi RAfse saw B
4. v2faRre g&R A qurv2 R g=1 B

A rescarcher wanted 1o immunize individuals

of a particular area with viral infections. The

researcher developed two different vaccine
types (A and B) with the following
propertics.

(i) When vaccine type A spcecific for a viral
strain is administered to individuals, they
develop strong neutralizing antibody
response with very poor immunological
memory. Hence it has to be administes ed
in repetitive doses.

(i) When vaccine type B specific for a viral
strain is administered to individuals, they
fail to develop circulating antibody
response at the time of infection but they

- develop strong immunological mermory.

If two viral strains V1 (incubation period-2
days) and V2 (incubation pcriod-15 days) arc
likely to infcct the area, which of the
following vaccine combination would

provide maximum immunization?

1. "V specific type A and V1 specific type B
2. VI specific type A and V2 specific type B
3. V2 specific type A and V| specific type B
4. V2 specific type A and V2 specific type B

U 3eeldeh olUe egqd faar 1 arfs
3endd St AN X ¥ I9ERY F &
mmaﬁwrma.wvmw
FF & AU dws TEr &1 HuRer B
S e Tgerd gendr wigh

.:l‘m

-1010

=
-Te8 |—.@
e
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Luciferase actlvity

83.

qRERT FAE & e RomRt @
JeEea fEhar|

¥ [ Gantral
’1 BE reaied
with drug

-1800 -1210 - -432

T wues R o ¥ |

A, -1800 TUT-1210 & & &7 &7 Tfpgs &
fov v dus wue Twar

B. -868 TUT-1210 & &1 7 &7 g &
T vF duw wyw @ b

C. -868 AUT 432 & I7 F7 &F ZHAFIN F
foT v dua = w@ar ¥

D, -1210 TuT -868 & &7 &7 &7 WFaw &
o vw Ty wvw war ¥

INET H ¥ Pl wl B
. ATUTC 2. B@AuWIC

3. ATGUTD 4, ¥HIT B

A promoter deletion study was done in order
to determine the biading sites for a
transcription factor on the promoter, which is
activated on treatment with the drug ‘X’,
The following constructs were made-

-1800

[

| B
fLLL

Luciferase assay revealed the following
results
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Luciferase sctivity
o

-1800  -1210 - 868 -432

The following statements can be made.

A. Region between -1800 and -1210
contains a binding site for the activator.

B. Region between -868 and -1210 contains
a binding site for a repressor.

C. Region between -868 and -432 contains a
binding site for a repressor.

D. Region between -1210 and -868 contains
a binding site for the activator.

Which of the above is/are true?

l. AandC 2. BandC

3. AandD ' 4. Bonly

W R o ¥ R wedwma o

AT Pt & dow ¥ 9w RNA

WWMWIHW,W

VT W & wE @2 aemwas @ wag

DNA & Y Rgfad gt & wry Remn

T, TUT YTApad Rufa F swnlam

e mar | v & oRome & oy A A

N Fyw ArTaa €

A, SEEt ¥ IET A T RNA, RNA-
DNA Ty #f Toar %5 #ifs srufde
RNA # remsas 39fdya ¥

B. WURUIT: AEOMY®F  RNAs, RNA-
DNA &8% #r Tgar 78 &5

C. wiff qe@a aw  wHaww
FHfwd. @RE g ¥, o
@ FEHT RNA. QW RNA-DNA gy
# T A For

D. ®iff IWAEMT WEARRAF RNAs
JuEres: P ¥ wmeefd® RN,
RNA-DNA Z8Y #r Toe &3

I Fu # ¥ FAwR v

e
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L. ®am¢ 2, A@WD
3. AduB 4 HFD

84. Total RNA was isolated separately from

8S.

cytosol and nuclei of human celis growing in
a cell culture. Each sample was mixed with a
purified denatured fragment of a DNA
corresponding to a large intron of a house
keeping gene and incubated  under
renaturating condition. Given below are the
statements made about the outcome of the
experiment,

A. RNA isolated from nuclei will form
RNA-DNA dupiexes because of the
presence of introns in the primary RNA,

B. Cytosolic RNAs usually will not form
RNA-DNA duplexes.

C. Both cytosolic and nuclear RNA will not
form RNA-DNA duplexes as
transcription  and splicing  occur
simultaneously.

D. Cytosolic RNA will form RNA-DNA
duplexes because unspliced cytosolic
RNAs are exceptionally stable.

Which of the above Statement(s) is/are most

likely to be true?

I. OnlyC 2.

3. AandB 4,

Aand D
Only D

UF ORI T A yfeaw @
mmwmammm
ﬁ!ﬁﬁauﬁmf@uﬁrﬂ#ﬂmmh
TROTH P TR §

_Comml induced Control
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mmmw##m-m, R &
mﬁ#wﬁﬁmﬁﬂmmh

. A B 2. AT AT B
3. A Bawre 4. AB,CAMD

The expression of a hypothetical gene was
analyzed by Northern and Western biot
hybridizations under control and induced
condition. The results are summarized below:

Control Induced Centrol Induced
PN
Emy I -
Northern Biat Western Blot

Expression of genes can be regulated by:
A. control at transcription initiation

B. alternative splicing

C. control of translation initiation

D. protein stability

Which of the above regulatory mechanisms
can explain the observations shown in the

figures?

l. OnlyB 2. Only AandB
3. OnlyBandC 4. A,B,CandD
gHmdIT DNA TaFas & waw F FT
FYA o ¥

A. qﬂﬁmmtm-ﬁfﬁw
#ﬂﬂm:ﬁ?ﬂ»‘rﬁaﬁwmh

B. wﬁﬁmﬁw«taﬁﬁmqwﬁaﬁ#
FRFT AT W E I
USHA: frafeaa g ¥

C. DNA wiagfoasr wat & Rftng s
¥ U "we-fmr s wm e

D. ol afagfras & ahrer Rt DNA
Wfrmﬂf?{mﬁ:ﬂﬁa

BT &
mm*mm#am«
&

. ABaurc 2. A C3uD
3. B,CadurD 4, A, BA@WD
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86.

87!

Following are certain statements related to

eukaryotic DNA replication:

A. The genome of multicellular animals
contain many potential origins of
replication.

B. During early development, when
embryos are undergoing rapid cell
divisions, origin sites are uniformly
activated.

C. “Puise-chase” technique is used to label
sites of DNA replication.

D. The rate of elongation of different DNA
chains during genome replication varies
drastically.

Which one of the following combinations of
above statements is correct?

l. A,BandC 2
3. B,CandD 4,

A,Cand D
A,Band D

mmm*mqmm
T gfaetfas § QAEEs | 30 sfaeias &

- W # o HYe Aead g

A T TEEIA & E-RUE A gEaW
TElRT grame & Far & &
RAeAfEeFa (RNA Arae @t A ¢l

B. TGOl FR& EF-G & WY FUFHT
TUTATROT SRR &t A B

C! WRH& RNA, (RNA™ ¥ qUAEHw
WY WAl § AW P-RUW W Ieedd:
afte g gl

D. @ UMAAITHIS (RNA & 89 (@Al ¢
U MEEAH F A-TT W aYA B

E [N AN wededw e

F. QAGHA Wb aur Fheard

T ST FWWUIt FT HEHT Far Bl
IET wYAT H F PF-TR T
1. ATWE 2. ®ATB
3. DAUTF 4, CAWE

87.

Puromycin is an antibiotic used to inhibit
protein synthesis. Given below are few
statements about the antibiotic.
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A. It enters the E-site of the ribosome where
it prevents the release of deacetylated
tRNA after the action of peptidyl
transferase.

B. It blocks the translocation process by
binding to the translocation factor EF-G.

<, Purom?rcin resembles the initiatior tRNA,
tRNA"™" and binds exclusively to
the P-site.

D. It resembles the aminoacyl tRNA and
binds to the A-site of the ribosome.

E. Puromycin inhibits only prokaryotic
protein synthesis.

F. Puromycin inhibits both prokaryotic and
eukaryotic protein synthesis.

Which of the above statement(s) is/are true?

l. AandE 2. Bonly

3. DandF 4, CandE

E. coli FIaHT &, Ataw & grmIwE
Feufeafa () a1 ety (w) # geiw=
RBers (1s) & 3P «r o=
@y gfafaftea &ar ¥

Activity of TS

I

IR trp IR & I JTHFA & A up
WHe ala 7 3caRafda Y S €, a e
Wit # § #lam mEwe @
Fafeufer () 3uRRfa (w) @ # fsfa £
coli RAFH H TS Wihgar & Isad

wafafte swar 2
2. 5
:
i

.
#
5

{

- N
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89.
88. The following  graph represents  the
expression of tryptophan synthetase (TS) in
E. coli cells in absence (0)) or presence (m ) of
tryptophan in the medium
5
2 45
S 5
g 2
<
1-
90.

If the two trp codons in the leader sequence
of trp operon is mutated to ala, which of the
following graphs will best represent activity
of TS in E. coli cells grown in the absence
(0) or presence (m) of tryptophan?

8. O 1wt # Pt HCISMaro3i sy
ASSAH o FRar &

91.

90.
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3. WIEHISIH ¥ HwRE, et qur s
TORGED e ey ¥

4. T PR By Iy
TGS, Feehr orer |

Which of the following statements best

describe archaebacteria?

. Mostly autotrophic, cell wall contains
peptidoglycan, 60S ribosomes, live in
extreme environment,

2. Divide by fission, not susceptible to
lysozyme, live in extreme environments,
mostly autotrophic, :

3. Not susceptible to lysozyme, contain
Golgi and linear chromosomes.

4. Chitinous cell wall, obligate aerobic,
circular chromosomes,

aﬁwmammm:m
AT FRFE, S G2 gy ¥ g
ﬁrmm?-.a’rﬁmmaﬁﬁ#mﬁ-
T HIE: e gt o

1. DNAﬁga:Hﬁﬁmﬂmﬁm

2. G2UEEN & FwEt a5 Qw &)

3. TRUEENr F FiffrEEt @ g &am|

4. FART Huas T

If a proteasome inhibitor -is added to

synchronously cycling human cells in G2
phase which one of the following events is
likely to happen?

Induce re-replication of DNA

Arrest cells in G2 phase

Arrest cells in Anaphase

Block chromatin condensation

S % T

C. BEU CHr Ahamard G aameh &)
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91.

92.

92

D. AT C# \fhTar 3eT & 3ea@ Frd)
IRFT FUAT FT PIA-AT T TE &

. ABAUC 2. A BFUTD
3. B,CaWD 4. A,CAU D

Following are certain statements regarding
the activities of homeotic genes of classes A,
B and C involved in floral organ identity:

A.
B.
e,
D.

Activity of A alone specifies sepals
Activity of B alone specifies petals
Activities of B and C form stamens
Activity of C alone specifies carpels

Which one of the following combinations of
above statements is correct?

l. A,BandC 2.
3. B,CandD 4,

A,Band D
A,Cand D

U Iafadl & T Sfad fear o,

A ZH AEGUNET F HORAF NURT &

W*mmwmmw:

A. ultrabithorax Set {ﬁ?ﬁ'ﬂ' Tefrg @we &
IR HfdeafEaa

B. anfennapedia?_:ﬂ'?f E{ﬂ?ﬂ'ﬂ' gefry @z &
feunhaa: sffeafFaa &

C. Us FAMEH Seqfiads

D. 3 e & v IeafadsT

IYRE TEOTIRT & JTUTAE MU
SATEA & FYA 1 ITGFAAH TS §:
. AGuTB 2. BawcC
3. Cauwr D 4. A@UTC

A mutant was experimentally generated
which had wings reduced to haltere like
structure. The following statements are put
forward regarding this phenotype:

A. ultrabithorax gene ectopically expressed
in second thoracic segment
B. antennapedia gene ectopically expressed

in second thoracic segment
C. A homeotic mutation
D. A mutation in gap gene
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The following combination of statements will
be most appropriate explaining the molecular
basis of mutant phenotype:
1. Aand B
3. CandD

grebrer & vF SeaRadt oo, e e

foar-foefror heat & & o, dww dwre, St

AT TR GHREUA W OFEA §, @ AR

B R oman e wuw oo & R

feror & sare & v R o

A U1 UF FU-AEEr # RERa gen

B. 0T U Fer-Aw # Rwf¥a gew

C. #F ST Mt e fadaH RNA &
foar-fafrse Readt wweus @ @y
e e B

D. #FF o et 3G FAF RNA &
foer-fafre woaus & afaa wwar ¢,
S 3T ZfAHFH RNA & FREUT F
fFrafaa e ¥

fedr ame spor & ffar fovedfiwor r samEr ¥

2%
4.

B and C
Aand C

IRFT FYAT FT T FhrAT B
l. AFUTC 2. AdYUD
3. BAW D 4. BEWC

A _mutant embryo of Drosophila in which
one of the major sex determining gene, sex
lethal, can only undergo default splicing, was
allowed to develop. The following statements
are towards explaining the determination of
sex of the embryo:

A. The embryo will develop into a male fly
B. The embryo will develop into a female
fly

sex lethal gene product directly regulates
sex specific alternate splicing of double
sex RNA

sex lethal gene product regulates sex
specific splicing of transformer RNA
which in turn regulates splicing of double
sex RNA

The correct combination of above statements
to explain sex determination of the given
embryo is: '

C.



https://www.adda247.com/?srsltid=AfmBOoqRk3UqfpnwDGIlqavz8sr8AMnaqqNchSHQUM30ClA6h9cVzI-5
https://play.google.com/store/apps/details?_gl=1%2A1uz474i%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

—AddaR47—

94.

9.

a5,

l. AandC 2. AandD
3. BandD 4, BandC
UF R qur wRewst A mw e @

T B AR G FREEE W v 3

fFr ST ¢ shewr oA 3 wafr

aRELT W afw s b s aw

HUR: ST W FREWE B’ ey

W S F YR T, 3EE @ sreuier

FRFE F & T T & w TR

muﬁ#:mw,ﬁmﬁmﬁﬂ#am-

T HE B

I BRAGE ‘A’ T Teafla & s
FRFWS ‘B’ Wit Iearda ¥

2. FNFTE ‘A’ fAEva: IFART ¥ oy
FITRTT ‘B’ F: IR 2|

3. M-A’ﬁ?mmmﬁﬁah

4. W-A’ﬁdﬁmma}mﬁ:,ﬁ
dr fadua: SRl ot T ¥ |

A two-celled embryo is made of blastomeres
A and B. If the two blastomeres are
experimentally separated, the ‘A’ blastomere
generates all the cells it would normally
make. However, the ‘B’ blastomere in
isolation makes only a small fraction of cells
it would normally make, Based on the
abave observations only, which one of the
following conclusions is correct?

1. ‘A’ blastomere is autonomously specified
while ‘B’ blastomere is conditionally
specified.

2. ‘A’ blastomere is conditionally specified,
while ‘B’ blastomere is autonomously
specified.

3. Descendents of ‘A’ blastomere are
autonomously specified.

4. Descendents of ‘B’ blastomere can either
be autonomously specified or conditionally
specified.

Y W & Awe e & v i &
e T 3fsE Mo, fAewa oF 305
kDa SI&W S sfeafem weamar & & @9
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3T B € smavaEar ¥ B oew
§ Hedaiear B ot s ot ay
I+ I=a £

A. 38 Sieelr SiehdwmREet F s

B. ﬂzmmw#aﬁwﬁam

T U

C. 375 ool & afsaifder mAdat &1 s
D. mmw#mmqm#

dlgAfse wfRat @ e
mm*m##m—mﬂﬁh
. ASUTD 2. AEB

3. AGYB 4. HEC

95. For successful fertilization in sea urchin,
interaction between the surface of the egg and
acrosomal proteins, specifically a 30.5 kDa
protein called bindin, is necessary. The
following factors could affect this interaction
and prevent fertilization: :

A. Removal of egg jelly polysaccharides.

B. Removal of bindin receptors on the egg
vitelline membrane.

C. Removal of bindin receptors from the
egg jelly.

D. ‘Removal of bindin receptors from a
single cluster on the vitelline membrane.

Which one or the combination of the above

statements is correct? | :

I. AandD 2. OnlyB

3. AandB 4. OnlyC

96. Wnt Head URHACT ofder  #r  gfRgor
wmﬁwm#manmryr%:ﬁﬂm
TREE A A, e & e SfRer
T 9iads, I F A 3w e
afeelierar, #t 3y wiTa: e w2

L 2,
ARR LT L ARA
e \

bl

D /
\ (@)
o
D~
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e Hreoe

Activation of the Wnt signal transduction
pathway is extremely important during early
development. Of the various pathways,
which one of the following is most likely to
induce cytoskeletal changes, like cell shape
and movement?

o
G \ s
) @@
1 3 4,
;:v' AR v ARA
. eI
® @ o (D) )

frer S&w @y Rt gfedRA gamr
yaafa & &g T8 wrar T R Rl
TgFaer gfodm & @y 3w 9w A
Tt See & e @, wg fafiee
THEFae WadRA & Ay FERia g #
R G | 3 HROT F FO A S
3% 3T B &= aen Fue @ A @
T &
1. UHFener wfateh & v Rt a@
ey @ s gt e & aw &)

2. WOW & 9W @gw gEese e

W & & & wHAE ui
3. WA & uieiat & qot I §
4. W & q R oiet & age
wferar €I
In order to precipitate a particular protein by
its specific antiserum, it was found that the

protein formed cross-linked lattice with
specific polyclonal antiserum but failed to
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precipitate  with  specific  moncclonal

antiserum. Which of the foliowing would

accurately justify the reason for this

behavior?

1. The protein has multiple copies of the same
epitope specific for the monoclonal antibody.

2. The protein has multiple distinct epitopes
but each has a single copy.

3. There is total absence of epitopes in the «
protein,

4. The protein has multiple copies of different
epitopes.

vE R J gt g6 & v R[fee
gy giRdRE A e | wREw @
EFE g g6 ¥ dE TENY W
yafe frar, o @ afeds o &
W 3T g FATERd & §Y aead
FRfrr war o1 | e Seaf@a gefadl

# @ Alad A g6 F fav Rt

gfads e &I

| e IgG Fiovefr & F(ab),' &7 wa
QI 9T T aT FEr |

2. YEFd 1gG gferelr @ sy Aofr de
FIMY T 38T FIET

3. YEF IgG ufereft Fr g Aoh S
TN 9T A Afa F |

4, YAFA 1gG wfawelr & F(ab),' &7 w&
TIAT W HAET F

A technician wanted to make rabbit antiserum

specific for mouse IgG. The technician injected

rabbit with purified mouse IgG but obtained

antiserum which reacted strongly with each of

the other mouse isotypes. Which of the

procedures mentioned below will allow him to

make antiserum specific for IgG only?

1. Injecting rabbit with purified F(ab),’
region of the IgG antibody.

2. Injecting rabbit with purified heavy chain
of the IgG antibody.

3. Injecting rabbit with purified light chain
of the IgG antibody.

4. Injecting rabbit with purified F(ab)'region
of the IgG antibody.
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diCeTes s e, By wae &
ot STt F 3 o wE ey aa
F % getent ow Reake e
T e Rede #Re swar
T TR SW W Ry et § B
e &, aw O & Bner sREE
9% SR TGt & fv SO R
T B

A. &, Apaef-1 3eaRadT & @y

B. &, F§ Bax e AT R e E
C. W, F§ Bak e fATSf B o E
= & ¥ Slaar Swfe Assaw mae

am(mammm?
l. AT A 2' BEW C
3. ATUTB 4. AdUTC

You have isolated a short chain polypeptide
from a bacteria which upon administering to
animal cells in culture is demonstrated to get
transported to mitochondria and to cause
mitochondrial membrane disruption. This
peptide is being considered for its therapeutic
effects on cancer and is to be tested for its
anticancer properties in the following models
of the disease.

A. Cancer with Apaf-1 mutation

B. Cancer where Bax genes are inactivated
C. Cancer where Bak genes are inactivated

Which of the following is likely to provide
best effect (i.e. induce apoplosis)

. Only A 2. BandC

3. AandB 4. AandC

100. FIRFT-HR s=tremfarst & ay F frd

T e wuEt F ¥ At wE oAt

A. FEREH IR-Breet o wrée £ )
IHeT et & dg camftag
AT Frfeaa Far &)

B. 3UCRH RfEe amEe o £ o
vﬁzwmmﬂaﬁﬁqmmmm
ITESH AfCT Far &
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C. ASRTAH S @l dfcr £ o
'mﬁm#ﬁﬁaﬁrmat, FITT- T
msfmmﬁ:arsﬁﬁmamﬁ

D. ICAMs (eI Fifdrr 3o 3
a!rrvcf\Ms(wia"e.';raasrm:raw_p

AT 3T (1g) & wew ¥
. ATA 2. HFB
3. g«rcauwrp 4. THTATU D

Which one of the following statements about

cell-cell interactions is NOT true?

A. Cadherins are transmembrane linker
proteins which carry out Ca*'-mediated
adhesion between adjacent cells.

B. Integrins are transmembrane adhesion
proteins that mediate homophilic adhesion
through actin and intermediate filaments.

C. Selectins are cell surface lectins that
mediate a variety of transient, cell-cell
adhesion interactions in the bloodstream.

D. ICAMs (intracellular cell adhesion’
molecules) and VCAMs (vascular cell
adhesion molecules) are members of
immunoglobulin (Ig) superfamily.

1. Only A 2. OnlyB

3. BothCandD 4. BothAandD

mw#ammﬂ;mmnﬁ

FEROT g R TES HEeut ¥ ghe wew

T & REeH & aviT e ae ey wuet

¥ PRI w5 '

| ﬁ::am%a‘mamﬂﬁraﬁ?rm
[ ¢ W dTw@wEa & RW o oRads
& g

2, ﬁa:amtahmmﬂﬁ-‘raﬂ?rm#m
Freaws & 2 areafa gt B

3. ﬁr:emtmmnﬁraﬂ?mt
T JAeTHa & AR AR gl ¥

4 HT@EA & IRW gem Y =Rm @
¢ Ju PeEwa & e 7 whed Ea1
Tean|
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The heart rate shows variation during
respiratory rhythm in most human subjects.
Which one of the following statements
describing the changes of heart rate during
respiratory phases is true?

1. The heart rate is accelerated during
expiration, but no change occurs during
inspiration.

2. The heart rate is accelerated during
inspiration and decelerated during
expiration.

3, The heart rate is accelerated during
expiration and decelerated during
inspiration.

4. The heart rate is accelerated during
inspiration and no change occurs during
expiration.

uF dfye @ # o gy w9 qW
¥ 0N BFar srar &, eIl Fe ®W
ot g &, quir fmar R Sfad g
# few ger §1 A dg & 5 Aeges
# sureaT e YT W EEa 6

A. ez Ry & Hwor G R @ safda
= & e s go AR goret
Y wifaw e wroa weh FE g e
ez fAYEoT & FROT NeTRTHEA FOT
e &, S e g W Ay &
T IR e &

o9 gee WA worw g @ E S
Fr4 fawa & g Epe F aftd Fr
I

R i afedle va dRREw &
3@ ST Na', K'-ATPase ¥ Waroe &
gl &, Rygaor & BRIy &R §

i aswaE D
1. AT A 2. AJUB
3, AWC 4, CTUD

When a nerve fiber is stimulated with
increasing strength of stimulus, the action
potential fails to generate even though the
threshold level may be passed. The following
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statements may explain this accommodation of
nerve fiber:

A. The critical number of open sodium channels
required to trigger the action potential may
never be attained due to slow depolarization.
Potassium channels open in response to slow
depolarization, which makes the nerve fiber
refractory to depolarization.

The low threshold sodium channels remain
open, which increases the threshold of firing
of action potential.

The efflux of sodium and influx of potassium
due to operation of Na‘, K'-ATPase oppose
the depolarization.

Which one of the following is correct?

1. Aonly 2. AandB

3. Conly 4, CandD

D.

w01 W @y & RA¥fe sgiaar swga &
Tt Fqur MR Breer # ey
it @ | AT Fuat 7, 100 Hz
afy & v & IRT IR e &
TofeT weTor afthe §1 .
A. IUR Bree & a9 A e
B. ¥R fBeeh & Raw @ e o |
C. IR Breer & ad ¥ TF I & 376
o T FH A, g ITaaH Reae
o & are 3ifere gam |
D, IUR Brech & a0 ¥ UH a1 # 30&
i 7% awt A, W IeaaA AR
a@ & fe Jfha gaml

o= & & Fa-ar 18 B

1. AducC | 2. BEW D

3. A C 4, HET D
Different frequencies of sound were

presented on the ear and the movement of
basilar membrane was experimentally
determined. The characteristics of movement
of basilar membrane after presentation of 100
Hz sound are described in the following
statements:

A. The base of basilar membrane showed

resonance.
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B. The apex of basilar membrane showed
resonance. ]

C. A wave travelled from the base to apex of
basilar membrane but the maximum

- displacement was noted near the apex,

D. A wave travelled from the base to apex of
basilar membrane but the maximum
displacement was noted near the base.

Which one of the following is correct?

. AandC 2. BandD
3. Conly 4. Donly
P Rufy & o= ged 4, RSy aw

ferera Fa-3regRRere STEl(LVEDP, &Y
m?fﬁa:nmgmfrﬁﬁaméﬁqﬁa
T §) W A o RIs-HELvsw) &
TR F R R T, S wgfeer
mﬁﬁrwaamm%imgﬁﬁ
$9 LVSW-LVEDP ¥&Y & 3vawe uss
IR AR ST & IRia e amr
T T QA AT T W st B
TN T F RO F e R

o e s Fxar b
1 A 5 N
E e - :"'
E o/ g /
.f.’ ;
LVEDP LVEDP
3 3 /‘/' L8 :
o". =
z
/‘;‘ 'l{
WEDP ‘WEDP

Contro] — , Norepinephring -

The changes in left ventricular stroke work
(LVSW) according to the different left
ventricular end-diastolic pressures (LVEDP,
which indicates the initia] myocardial fiber
length) in a dog, under control conditions,
were recorded, which follows Starling’s law
of the heart. This LVSW-LVEDP
relationship was investigated in the same dog
after constant infusion of norepinephrine, and

5/55 CSI/14-3BH—3
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(€3]
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these two data sets were plotted.  Which one -
of the following graphs correctly represents
the results obtained? ;

A

B.

1

Lz

s

LVEDP LVEDP

LVEDP LVEDP

Control ———, Norepinzphrine ~----—-

Ius.mﬁmm#ﬁm@
Y faraa &

. TN §HSAT F gk sitget @
mwg'@a:mnﬁﬁmmﬁh
FIRDT & e ST vy e =
am#m##ﬁv.mﬂm#m
faerT, S wa Re a1 W garEon
ITUCY FEeTd 8, FORA B ¥

C. WIRH # wyreroh sftww & afnfg g
TOEROT 39eedt 3% dewars o 3

D. e 3ot & 9% wqg g e
ueHt # 9w AT & w9 5 e
X Bl

'_mmtﬁmmﬁ#m-m

el 7 :

I. A BAurC 2. B,Cd¥rD

3. A BIUD 4. A, CEUD

105. Following are some statements related to
osmotic stress in plants,

A. The accumulation of ions during osmotic

B.

adjustment is predominantly restricted
to the vacuoles,

In order to maintain the water potential
equilibrium within the cell, other solutes
called as compatible solutes or
compatible osmolytes accumulate in the
cytoplasm.
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A

C. Galactose is one of the compatible
osmolytes involved in osmotic stress in
plants,

D. There are mainly four groups of
molecules that frequently serve as
compatible solutes.

Which one of the following combinations of

above statements is correct?

1. A,BandC 2

3. A,BandD 4,

B,Cand D
A,Cand D

106. C;, C, U1 CAM Uredl & R # ol 1 &
Yy fasTaqd ¢
A. C, @UTC, TTgdt &1 o # CAM wigur
# S &7 qUr CO, & HAHoT F
I Hftw ¥
B. C,9redl ¥ Jorw # C, wrgnt # ouaH

TR R CO, HRF e 9T gFer,

HLOWUT ITTTH A WoT FRT ¢ |

C. C,urel #r goem # C; wgdt # wfadR
fig g 3reTeR &1

D. C,uredr #r goen #, fomelr & ot

TRRIHEATOT 7 9o & & forw ¢,
3UTTYYF qeHl Y FH Flaes dr
| JEeTEar g -
3REFT FYA & ot waeEr # & Fle-ar
e &Y |
. ATUTB 2. ATuUIC
3. Caurb 4. BAWD

106. Following are certain statements regardmg Csy
C4 and CAM plants? :
A. The ratio of water loss to CO, uptake is
higher in CAM plants than it is in either
C3 and C4 plants
B. The rate of photosynthesm attains
maximum rate at lower intracellular CO,
partial pressure in C4 plants than in C;
plants,
C. The compensation point in C; plants are
always lower than C, plants.
Plants with C, metabolism need less
rubisco than C; plants to achieve a given
rate of photosynthesis.

GET IT ON
Google Play

34

Which one of the following combinations of
above statements is correct?

1. Aand B 2.
3. Cand D 4,

Aand C
Band D

107. west # e SR g (PD) &
At &t A v ¥ o d [uaT |
o aifgdry dcat & fwew & ket sh
PCD 3c9esT BT @Hal §, o Fegd aur
swrATfee oo O o Sar g | ¥ aREde
o Shet i wfrdeor & oftoma @ )

ot # g e e AT A &

A. SNIFRATT B. GRS

C. RNA uffesys D. WRAF

gr& gy acat & oo & @ ohet

F FaoEAr A § dtA-ar gfFRfed

1. AGUB : 2. B@WC
CHUTD 4. DAUA

107. One of the important functions of program
cell death (PCD) in plants is protection
against pathogens. PCD also appears to occur
during the differentiation of xylem tracheary
elements that leads to nuclei and chromatin
degradation. These changes result from the
activation of certain genes. Following are
certain genes encoding
A. Topoisomerase B. Nuclease
C. RNA polymerase D. Protease
Which one of the following combinations of
the above is involved in differentiation of
Xylem tracheary elements?

- 1. AandB | 12
3. CandD — 4,

108. 5&T 9eY aYd Ud faww & foad fAuias
¥ viaAe ey owfasifoag aifoarer A
vEREARE & X A R W FE wu
feetaa &

A. q’hmﬂﬂw;ﬂ:ﬁﬁ,a’f;ﬁwﬁaﬂ
vfafafrcs st &, PHYB oe- o
Jraeiryor 3 yerw s fovsmar ¥

B. RCeThId qSTa e U IS

. dat ¥ awe & wEEla E

BandC
Dand A
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C. HEI-9Te WM HauuT 3 phyA wehreramér 109 Follot_ving are berta_in statements regarding
secondary metabolites found in piants

wHEe. §eAea § : A. All terpenes are derived from 2 six-
D. WE&@A C(PHYC)® LOV &7 W carbon element.

YEOT ¥ fav ;q’gat[u‘r &8s ¥ B. Alkaloids are n:trogen containing

; it 3 — - compounds. j

# # ¥ C. Pyrethroids, a monoterpene ester found

e e ‘ in the leaves and flower of Chrysanthe-
1. ABauC 2. A, CaWD mum species, show insecticidal activity.
3. B,CEWD 4 ABIMD D. Limonoids are groups of alkaloids and

have antiherbivoral activity.
Which one of the following combinations of

108. Light is crucial for plant growth and above statements is correct?
development. Following are certain statements 1. Aand B 2. AandD
related to photoreceptors in model plant 3. BandC : 4, CandD
Arabidopsis thaliana.
A. Among the five phytochrome genes, 110. Sifar afvas e (S4G12) & 370F &
representing a gene family, PHYB plays a ; ;
predominangt rogle in red-light perception. , o o arfier IR ey w1 fawre

B. Cryptochromes are involved in the regulation T T smeRRveEEE TeEwE (1PT)

of flowering time and hypocoty! length. i -y T N IRl e
C. phyA photoreceptor is predominantly ' ;
involved in far-red light perception. L A IT T e b
D. The LOV domain of phytochrome IRSIET ey
C (PHYC) is an important domain for signal A. faefae shofar e &
transmission. a8 e & E
Which one of the following combinations of =
above statements is correct? : C. Sifar & it 3t o &
1. A,BandC 2. A CandD TESwAeT @y §
3. B,CandD 4, A BandD :
D,/ Sfivfar & ghwer s 7 & feRfeeer
109. raSt ¥ 9 S A SRt ST & & ;
?ﬁ#ﬂ?&?ﬁ}?mm& IRFT FUAr & et @Aowt F ¥ W wr
A o o UF 6-FH aeE @ e R e &
i 1. ATUTB 2. ATuWC
B. msgmgaaﬂmma‘i 3. DD S D
il R q o 110. A transgenic lettuce plant was generated by
T Ielt F G S AT U Aiedredie over-expressing isopentenyl transferase (IPT)
TR, Hreanh afrgar oy ¥ gene under the control of the promoter of
Rrrssw, Yedhatest ;. senescence activator gene (S4G12).
2 ; ¥ g & Following are some statements regarding
SermwE afmar @ § this transgenic plant. The transgenic plants
IRFT FUGT F T "aeEr F ¥ S A. exhibit delayed senescence.
T : , B. exhibit fast senescence.
C. have higher amount of cytokinin during
. ATGUrB 2. ATWD Selescehis.
3. BAWC 4. CcaUwD D. have higher amount of glbberellms

during senescence.

S/55 CSI114-3BH—4A
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Which one of the following combinations of
above statements is correct?

l. AandB 2,
3. BandD 4,

AandC
CandD

HLF X & #I1f%7 ww 07 & v s &7
URA-3 e T §
... Phe Leu Val Pro Ser Tyr Cys.........

S & X Y vw swftedt s fen
ST ¥, UF SaRadew & @Y 3anid)
3REdr S & :RA 33 & F7 O
I+ I forad &

...... Phe Leu Phe Arg Arg Ile ........

o safadeet # & s 39gmr &
HtFan FoEar &

I s-EAgufe

2. 2-NfARArCgE
3. BUBE He EewWe

4. ufRde 3ifte

111. The following is the amino acid sequence of
a part of a protein encoded by gene ‘X’.

..... Phe Leu Val Pro Ser Tyr Cys .........

A-mutant for gene ‘X’ is isolated following
treatment with a mutagen. The amino acid
sequence of the same region encoded by the
mutant gene is as follows ; °

...... Phe Leu Phe Arg Arg Ile ........

Which of the following mutagens is most
likely to have been used?

1. 5-bromouracil

2. 2-amino-purine

3. 'Ethyl methanesulfonate

4. Acridine orange

112. =G #7357 4n & 20 @ & g
q P ¥ Tt F e & ek
T 3T Garerer WHTEA fveeTad @ &
A. 2 ZraEEeT

B. tfa:agﬂu‘ﬁﬁ
C. UF twyaEh+ vF AEast
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FRIE oot & ¥ Fla-wr R geaw
& 3eeA 1 AR TR F FHar

. | A 2, BaurcC
3. AdurcC 4. AdUrB

112. Autotetraploids arise by the doubling of 2n
complement to 4n. There are three different
pairing possibilities at meiosis in tetraploids
as given below :

A. Two bivalents

B. One quadrivalent

C. One univalent + one trivalent.

Which of the above pairings can lead to
production of diploid gamete?
1. Only A 2
3. AandC 4.

113.9% 17 a¥fy, 7 e 3 Ae & g
¥ gar 9o ¥ 77 9w g @ wRi
feraer & ffET ¥ 3w T & Iy
I F Peewt aeaRifhar gan Rl
O i IY| Seeehfaer & snavww
FHee Rfeear ghr
A, UTEES FrAE
B. ToRIIEHEE
C. T
D. & gl
E. $gfere
e st # ¥ R 39T 8 wwar ¥
l. AT ATIB 2. AEBTW D
3. AB@WD 4. A, CTWE

Band C
A and B

113. At 17 years, a 7 feet tall human was
diagnosed with gigantism caused by pituitary
tumor. The condition was surgically
corrected by removal of the person’s pituitary
gland. Doctors advised hormonal therapy.
The possible hormonal therapies that would
be required for survival are

Thyroid hormone

Glucocorticoids

Glucagon

Growth hormone

Insulin

moOoOwy

S/55 CS1/14-3BH—4B
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Which one of the following combination can
be used?

1. Aand B only 2. Band D only
3. ABandD 4 A CandE

114, 3Tt $ g@en ¥ vafia = g
& Wed # Y T 7O Fue freaa
A DEHST & wERT § oieds
B. USH Xl & ®@fpgor, 3 e
R Far ¥
C. 5¢& XN 1 #fhgor, St confower
AIHRTAT &7 See1aeT FTaT B

D. 9ffehry wHger # aver

wiFae R ¥ i & waf &,
YAl & T waeEt & ¥ Saar wd b
1. B,CaUD

2. A,B@UD

3. A Cau D

4. ABTW C

114, Given below are few statements with
reference to blood clot formation which results
from triggered chain of reactions:

A. Conversion of fibrinogen to fibrin.

B. Activation of factor XIII, which stabilizes
fibrin mesh work.

C. Activation of factor XII, which promotes
plasmin activation.

D. Enhancement of platelet aggregation,

Which one of the following combination of
statements is correct with reference to roles
of thrombin in hemostasis?

B,Cand D

A,BandD

A,CandD

A,BandC

AW

LS. 9o [ # ¥t feadt S 4w Re a §1 q45,
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TAGHY IoT(A) | HEE)
HRRYE 211 (B) | 9idh (k)
3irSter (C) fezzr (©)
SR (D) el A=t (H)
FRs-FFET (1)
&I ()
HE 111

() wfeq, Bfeoart va, s 3
R 377, 33 ofr 7 9aen, Y &
FTOHIr AT R 3w ¥ s,
FCTFTHTHT T

(ii)ﬁﬁaﬂmﬁamqga‘:mnqam’rm.

(i) 39T T, FAT FUT FovE, Tedw At
T feear, gawarer d & s,
TR FqTaor

(iv) S 3e3 aF a1 A= geo @t & @y, =5
RRT g9, Brfoomd gat #r @ s s,
PR, &Y, o SRy sifted, sereEias
FiROT

(v) ~fere 3w A aTE, sifva AR,
H, FAA TFT el R, srevdriad
FTCROT '

(V)3eY  RRT g#a  Rfeeumh
gRafia  Ivsfieivs, whas g%
wRafdd, @t qw W & R ¥
31 gRaEfda, qoferarad waiaor

L. A-J(ii) 2. B-I-(vi)

3. C-H{v) 4. D-Fi)

9w,
#
&

In Group I are given 4 orders of class Insecta.
Match each one with a common name (Group
Il) and its diagnostic characters (Group III)
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]_ Group — I Group I P P
Dermaptera (A) Ant (E) |
Ephemeroptera (B) | Mayfly (F) ‘ ‘ ﬂ] Ifl i ‘
Odonata (C) Grasshopper (G) 3 3 3 3 g :
Plecoptera (D) Damselfly (H)
Stonefly (I)
L Earwig (J) Py Py 1 2 3 4 5 6
M1 ] — =
Group III Gig N .
(i) Elongate, membranous wings with net-
like venation, abdomen long and slender, M3 — —_— s -
compound eyes occupy most of head, il

hemimetabolous metamorphosis

(ii) Elongate chewing mouthparts, thread-like
antennae, abdomen with unsegmented
forceps-like cerci, hemimetabolous
metamorphosis

(iii) Forewing long, narrow and leathery,
hindwing broad and membranous,
chewing mouthparts, hemimetabolous
metamorphosis

(iv) Elongate abdomen with two or three tail
filaments, two pairs of membranous
wings with many veins, forewings
traiangular, short, bristle-like antennae,
hemimetabolous metamorphosis

(v) Adults with reduced mouthparts, elongate
antennae, long cerci, nymphs aquatic with

«  gills, hemimetabolous metamorphosis

(vi) Wings membranous with few veins, well
developed ovipositiors, sometimes
modified into a sting, mouth parts
modified for biting and lapping,
holometabolous metamorphosis

1. A-J-(ii) 2. B-I(vi)
3. C-H-(v) 4. D-F-(i)

116.a@m¢maﬁﬁﬁmwﬂaﬁm
qeAEue el # faeewer FRifrad
frar mar | oo e aRife §

IET F WYX W, Rrast § F -

R & | geafeaar gafar &
1. Ml . 2. M2
3. M3 4, M4

116. An analysis of four microsatellite markers

was carried out in a family showing a genetic
disorder. The results are summarized below:

'! 2

REEEE.

M1 — — e a—

Based on the above, which of the markers
shows linkage to the disorder?

1. Ml 2. M2

3. M3 4. M4
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117.@3-*73#@3?1‘##?%::!7&?%@
TRelewa S TafEE 9 fies
Substrate ‘X' Substrate 'Y’
{colorless) (colorless)
1 fmutant b
Coloriess Colorless
intermediate intermediate
mutant 'a'* J
Brown pigment Orange pigment
| ekt )

I
Orange-Brown Eye Color
(wild type)

ﬂ#mmﬁmmtwm‘rmmmﬁ
a IORE s SeRadt o qur
O g 9% Al ¥ & seoRedt
gefead 78r § F, Fafa aeromysy =11 g,
I AW TR aaBB X AAbb ¥ FEt & @
ST AT A, @ R, wafy seRvweRe
&

93&7&:{%:3-‘11‘{'7&:3&%:1%@?
QHW-S{?:?EH'U'I’

1 A : 2 faof

15=!rz'1n-31t:1ﬁm‘r

AW -

117. A hypothetical biochemical pamway for the
formation of eye color in insect is given

below,
Substrate 'X' Substrate 'Y’
(coloriess) (coloriess)
}mutant ‘b’
Colorless Coloress
intermediate intermediate
mutant 'a‘* l
Brown pigment Orange pigment
| S ]

1
Orange-Brown Eye Color
(wild type)

Two autosomal recessive mutants ‘4’ and ‘b’
are identified which block the pathway as

GET IT ON
Google Play

39

shown above, Considering that the mutants
are not linked, what will be the phenotype of
the F; progeny if crosses were made between
parents of the genotype aaBB x AADbb, and
the F, progeny are intercrossed?

1. 9 orange-brown : 3 orange : 3 brown : |
colorless

2. 9 orange-brown : 7 colorless

3. 1 orange : 2 colorless

4. 15 orange-brown : | colorless

118. U% WEURFAT ST e amam, 4 S &
Qﬁm%ﬁm’rmmﬂa‘:ﬁ-‘mﬁa,b,cmdl
m*mﬂwz},aﬁwmvﬁamqm)
6 (FF -2) A c (W -3) & AT = 1w,
3T RETHt & FeURFAT & e s mw

THE -1
% AT wpuREmATT mgfea
T T
a b 31
a c 3
a d 89
THE -2
3UF AT WEARmHOT 3gfed
T a7
b a 22
b c 78
b d 68
T -3
o AT weoRwAT smafRy
e T
c a 0
c b 69
c d 43

R R 7=2A srgfeaat & amw w,
ot 3 3ifey iR Aoh A qr w5t

o

abcd 2

1. da
3. cdabd 4, b e

2

c
d
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118. A co-transduction experiment was performed D. stp 3EREdH ARG DNA # e
to decipher the linear order of 4 genes: a, b, ¢ -
and d. Three sets of experiments were done
where transductants were selected for a s aRomAt i earEar g IYgEdaR
(Set-1) or b (Set-2) or ¢ (Set-3) and screened U T IYNFT FYAT FT GDoT B
for co-transduction of the other markers. . AFUIC 2 #EC
Set-1 3. AGUrD 4, BEUWD
Selected  Co-transduction Frequency
for 119. In Neurospora, the mutant stp exhibits erratic
a b 31 stop-and-start growth. When a female of stp
a c 3 strain is crossed with a normal strain acting
a d 89 as a male, all progeny individuals showed stp
mutant phenotype. However, the reciprocal
cross resulted in all normal progeny
Set-2 individuals. These results can be explained
Selected Co-transduction Frequency on the basis of
for A. maternal inheritance
b a 2e B. sex limited inheritance
b c 78 C. sex influenced inheritance
b d 68 D. stp mutation may be located in
mitochondrial DNA
The most ~appropriate statement or
Set-3 combination of the above statements for
Selected  Co-transduction Frequency explaining the experimental results is :
f°"c i 4 l. AandC 2. Conly
. b 60 3. AandD 4, BandD
c d 43

120, @e= & ¥ FiF-ar, wofr T 394 FE0T F
el gAT &2 |

Based on the frequencies shown above,
identify the most likely order in the genome.

1. e d e
3. cdab 4, adbe
arofy EToT
119. FZIFIRT # SeaRadt sp Fh-3R-gF Y g_'aﬂa“”m Eﬂ)ﬁwmﬁﬁf
F IRt IR A ¥ T s e @ CHEEaR (iii) et o iR

AT B UH WEROT WA, A AE T WE D-EEY AT (iv) I gl oA
SR FAT §, F Y TEART & Fmar
g a wr wafa =t F sp IeaRadt
FETTIERY RMAT| R Fha THFOT HHr
mﬁaﬁr#qﬁvﬁagmsﬂmﬁf
# SR 3 HUR W 8 Tl &

A. #Tq Femafy

B. fw-ardiRe qemrfy

C. foer-weanfas gemafy

A- (iii), B- (ii), C- (i), D- (iv)
A- (ii), B- (iii), C- (i), D- (iv)
A- (i), B- (iv), C (i), D- (i)
A- (iv), B- (iii), C- (ii), D- (i)

hanodl o

120. Which of the following is a correct match of
the animal with its attribute?
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Animal Attxibute
A-Rotifer @ Nauplivs larval stage
B-Sen anesnone (ii) Radial
C-Barnacle {i_ii)lednqgkumbndymvity
D-Seaurchin (W)Wﬁu‘vuad.lym

A- (iii), B- (ii), C- (i), D- (i)
A-(ii), B- (iii), C- (i), D- (iv)
A- (ii), B~ (iv), C (i), D- (ii)
A- (iv), B- (i), C- (if), D- (i)

B

1.
3

IZl.@W*#ﬂM#ﬁﬂmiﬁ'ﬁﬂm
T F ¥ e by

1. et e, e dete

2. e, R, e, R A

3. EHRY, A, Bt R

4. R, e, S, gt B.

121. Which of the following
decreasing  order for the
decomposition of litter constituents?

rate  of

1. Hemicellulose, cellulose, lignin, phenol D.

2. Cellulose, hemicellulose, phenol, lignin
3. Hemicellulose, cel lulose, phenol, lignin
4. Lignin, phenol, herniccﬂulose, cellulose

lzz.mmrfa~$rﬁnrqﬂmﬁqama:rmwﬂm‘r

gramaﬂfamﬂqhmw%qwﬁ: L.
2
3.

122. Complete the following  hypothetical life
table of a Species to calculate the net
reproductive rate R,:

is the correct C.

123. Following four
observed in a commun ity: }
A. Species A has a large effect on
B.
C.

D.
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The calculated Ro will be

0.75.
0,65,

e
(=]
o

123.omﬂgamﬁﬁmmm£rmm
& vt

HW%AMHQW#W
T T T @ §
mswagm#waaaﬁm%a’r
mqgmé;aqma#mﬁmm
mﬁﬁatmwmm’rmﬁrcﬁ

e

Rt g s 3

¥H@, FHohfire, yg%aw_wﬁmn
Folfren, ofeares, IHE TA gaw

o, g,

types of species were

community because of its abundance.
Species B has a large role in community
out of proportion to its abundance,

Status of species C provides information
on the overall health of an ecosystem.
Significant conservation resources are
allocated to species D which is single,
large and instantly recognizable.
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According to above description, species A, B,

C and D are called respectively,

1. Dominant, Keystone, Indicator and Flagship.
2. Keystone, Flagship, Dominant and Indicator.
3. Keystone, Dominant, Indicator and Flagship.
4. Flagship, Dominant, Keystone and Indicator.

124, ATH-ACAT  AFEAT FAAA FIGAR
wonfe | @ wonfay 2 & @9 & HFEo @7

wiafaftra R wvar &
Kz |
$p@ K
Km K, ’
sp@D
o # Ru ¥ vfaeul & wqar gFEe #
qategafea oo &

1. TR K> Ky/p T K, > Ky/a &, Sote
| T Wefa 2 ¥ € gEary AR
FHH K,<Ko/p TN K, < Kya &, Fomict
1 aur wonfe 2 & /g dearw e §
Fifh K> Ko/p T K, > K//o &, Worfar
| dur yonfa 2 & &@ig dgaw B g

TR K< Ko/p T K, <Ky/a &, FSiia

| T WS 2 ¥ o geard R ¥

124. The diagram represents competition between
species 1 and species 2 according to Lotka-
Volterra model of competition.

4

K

sp@

Kija
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Given the conditions in the diagram, the
predicted outcome of competition is

1,

2.

3.

4,

Unstable coexistence between species |
and 2 because K> Kz.fﬂ and K, > K,/a
Unstable coexistence between species |
and 2 because K;< K,/p and K, <K,/a
Stable coexistence between species 1 and
2 because K> Ky/B and K, > K/a

Stable coexistence between species | and
2 because K< K,/B and K; < K/a

125, Fefr s woerr & faww &1 wROwE
wenfa fafvar & wwey w@dv § @ wonfa
fafaear

A
B.
C.

D.

faater & anfae & -
faeiy & segadt wRt F sTUaA ©
faelrsr & gfE & F¥-FY WETATHA:
A qeh &

ftw & ITaaw TR W & FH g

T
H z H
T
iy :
Low n
1 2
Z g“
£ 2
1] 9
¥ o
2
| SV NS SN
Low High Low High
disturbance disturbance
3 4
W Wy & Fd IWFd wYE d
AT AR
I. 1-D,2-C, 3-B, 4-D
2 ]-C21)3!34A
3, 1-A,2-B,3-C,4-D
4. 1-C,2-A, 3-B, 4-D
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125. The possible relationships between level of
disturbance and species diversity in g
biological community are that species
diversity
A. is unaffected by disturbance.

B. is highest at intermediate levels of
disturbance,

C. decreases exponentially with increasing

D.

levels of disturbance,
starts decreasing only at higher levels of

disturbance,
z
i i ,
iJ i
wmm mmm
1 2
i ;
w4 P
www mmﬂw
3 4

Match ‘each graph with it corresponding
statements above:

1. 1-D,2-C, 3-B,4-D

2-1€,2-D, 3-B, 4-A

3. 1-A,2-B,3C, 4D

4. 1-C, 2-A, 3-B, 4-D

126. 517 sfere wafawr & AURYE: Hafa
AN JUr SR Wafey & gear & d
U R e 1 Y F5 ani aiey
R v &
A. mﬂ#ma:f?ufaﬁ#mw
3T
B. SR CUWT 7 waey
C. m#mm#mm
D. memmmﬁ
el
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I. Baurc 2. BawrDp
3. AdarB 4. AdUrC

126. In life history evolution there is generally a

trade-off between the size and number of

offspring produced. Some conditions are

listed below:

A. Scarcity of food during the early stages
of life

B. Provision of parental care :

C. High mortality during early stages of life

D. Predator’s preference for large sized prey

What are the above two conditions that
would favour the production of a small
number of large-sized offspring?

l. BandC 2. BandD
3, AandB 4. AandC

127.%3?#"&@%%‘?3@3?

127,

L. IelfesH, Fmy & e wffer a1 vy
B3 W@ ¥ | i

2. fhuwEes wemy & siey Wit o
oA 55 @ E

3. FeAEH & aRmr A qwr awgor e

4. YToNiesH ur feawiEses 2% 3rae semy
F X Wi a7 TR o3 Ty ¥

Which of the following is a correct statement?

1. Euglenids have a spiral or crystalline rod
inside flagella.

2. Pheophytes have a spiral or crystalline
rod inside flagella.

3. Euglenids have a hairy and smooth flagelia.

4. Euglenids and pheophytes both have a
spiral or crystalline rod inside flagella.
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lz&.m@mﬂa&ﬁﬂagﬁmmﬁm
e &y #
Faeh! GHE Ll
A o # foafAT w9 @
ufed e agf
B Bfd 1w
c ey S8 W g
FahHe @l Tl BT §

D FAH o el O
&S] @ ¥

3T arfed A Fah §HE A, B, Caur

D, HF: &
rfeEamAERds, twmEddT,
TAFIATS RS, FEMAERES
2. SENATERAET, CERATSHIE,

3. UERATEHES, SEMATSRAC,
TaEREERET, FREEEERdS
. frRamEfRd, seaAfEd,
VERATBHIEAS, TAAVATZACTST

128. Following is a table showing selected
characteristics of important fungal groups.

Fungal group Characteristic
A No regularly occurring scpta in

thallus

B Perforatcd scpta

Cc Forms arbuscular mycorrhizae on
plant roots

D Have zoospores with flagella

In the above table, the fungal groups A, B, C

and D, are, respectively,

1. Chytridiomycetes, Ascomycetes,
Glomeromycetes, Zygomycetes

2. Zygomycetes, Ascomycetes,
Glomeromycetes, Chytridiomycetes

3. Ascomycetes, Zygomycetes,
Glomeromycetes, Chytridiomycetes

4. Chytridiomycetes, Zygomycetes,
Ascomycetes, Glomeromycetes
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129. =T Fuar 7 ¥ Fia-ar @ Tl &

L.

129.

AT # aur geEey # U 3utua §
Tt ey # sufeaa €

AT STRIHECH Tut W@y § aur Sl
Fla @l Hey Hage! Tey [EIT @
gl

THAFIH WETHYT & A Faw @ g,
Fafer gfdwie 0T & TF faaw g ¥
THASTIAT F WER AF a7 gl &, Faiw
IRFe F HF A3 BT T

Which of the following statements is NOT
correct?

Stomata are present in mosses and hornworts
but absent in liverworts.

Only the lycophytes have microphylls

and almost all other vascular plants have
megaphylls.

Monocot pollen grains have three
openings whereas eudicot pollen grains
have one opening.

Monocots have fibrous root system
whereas eudicots have taproot.

130. o Hffeeroll & § FiF-A, CFNET @

3 IMuRE SNfaa Jgaden JamT &2

I 33Y Fas HAS CaRT Helldd aur
FIfeer deal FT FIHG

2. 37eqt & I¢E JUT arfger aear i 3ufRUfa

3. 3fET HFd qur dqfve dedt A sufeufa

4, 3izaf € 3ufPufd aur aifeer aar # 3emE

130.Which of the following characteristics make
Amborella the most basal living angiosperm?

1.
2:

3.
4,

Carpels fused by tissue connection and
absence of vessel elements

Absence of carpels and presence of vessel
elements

Carpels free and presence of vessel elements
Presence of carpels and absence of vessel
elements

131 gRF & IR IV F AT FT F ps3
S # dfte w= F v e Rl w@


https://www.adda247.com/?srsltid=AfmBOoqRk3UqfpnwDGIlqavz8sr8AMnaqqNchSHQUM30ClA6h9cVzI-5
https://play.google.com/store/apps/details?_gl=1%2A1uz474i%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

—AddaR47—
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ﬁmﬁgﬁfﬁaﬁm

TSP Cre p32
N — 1 R
Cre  p53 p53
z. X
TSP  Cre z
N = e R
TSP Cre ps3
T « @R

Wwﬂnmpsdn:prm
Cre = Cre recombinase
of = lonP sites
I131. A student was asked to design a knockout
cassette for specifically deleting the p53 gene

from the prostate gland of mice. Which one

of the following pairs of cassettes will ensure
gene?

deletion of the

™= promoter
Cre = Cre recombinase
of =P sites

132,

132. During the production of alcohol by

fermentation using budding Yyeast, oxygen

supply is kept limited. Why?

L. Budding yeasts are obligate anaerobes
and cannot tolerate oxygen,

GET IT ON
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2. Budding yeasts [ose mitochondria in the
absence of oxygen.
- 3. Budding yeasts are facuitative anaerobes,
4. Alcohol is oxidized further in the
presence of oxygen.

lss,maéﬁrmﬁma?mtﬁwﬁm

FUA A & BT TG it b

1. mmaan?rﬁzﬁ#aggmﬁm
T ' eee: oRafde awar &

2. @ JrAaTed yafeat # o
¥ # REdT F F Y s o
HHT gl

3. m@ﬁ*maaﬁmﬁﬁmm
FT THA R/ IR 7 7T B

4. TF FliaRe JrAfawiowdt & amr
FRIOT FT FFar 2

133. Which of the following statements is NOT

correct regarding effect of genetic drift?

L. Italters allele frequency substantially
only in small populations.

2. Itcan cause allele frequencies to.change
at random.

3. Ttcanlead to a loss of genetic variation
within populations, . - '

4. It can cause harmful alleles 10 become
eliminated.

134.%%#@_1%@1%@!?@&%#
wrfﬁa:mmms)mﬁ#m%larm
#mmﬁ?mmmm

T[T F B ¥ uEe Fur
Wﬁ?mmtm#mmﬁﬁ
A B
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ATUTB# S a0 & g &
1. A-fehg, B-fates

A- 3TTH, B- laees

A- FordFR, B- Ades

A- fa<dew, B- FudsRE

:ILMM

Two kinds of natural selection (A and B)

acting on a trait are shown in the figure

below. In each, the top graph shows the trait

frequency before and the bottom graph

frequency after the action of natural selection.
A B

<DEmMcomaM

<DETmMmcomz T

13 5.

135.

Wi

The kind of natural selection in A and B are
1. A- Directional, B-Disruptive

2. A-Neutral, B- Disruptive

3. A- Stabilizing, B- Disruptive

4. A-Disruptive, B- Stabilizing

TRAIT

FlaRae WE A Tea U RdNE &
grAfawed! Jod T JHETGr ¥ 400 Safeaar
N UF AEEoF THaA o S gl TR
fawed o & v 36 safeFa wngeeh § a@
# FH A FA UF GIAGHN A F dEA
A A A =afFadr #vomr #oar

T B2
1. 36 2. 168
3. 364 4, 196

In a random sample of 400 individuals from a
population with alleles of a trait in Hardy-
Weinberg equilibrium, 36 individuals are
homozygous for allele a. How many
individuals in the sample are expected to
carry at least one allele A?

46

136.

136.
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168
196

1. 36 2
3. 364 4,

TWRFTA G & AWRFI B F v
SERIRE H Fn ¢ forwa v 3ugwadr
gitomH &1 et caraeiRe Frat @ @ o) @
/O 3UgFAAr IROTH (i) ¥ (iv)dH) F aqTY
gafea fifee

apiE w1 | A & v sogwaar eRomy

H/EAT (8) WehE IIGFA 9T § R

fasa & @ (i)

Fepelr ARG IqAA T F(ii)

wigaaranb)

| IRt 3TGFTT @ F (iii)

ZAY (c)

i qur
TTATRI(d)

FehET I9GFIa qIel § 9
T (iv)

AT (¢)

a-(iv); b-(iii); c-(ii), d-(ii), e-(i)
a-(i); b-(ii); c-(ii), d-(iii), e-(iv)
a-(i); b-(iii); c~(ii), d-(ii), e-(iv)
a-(ii); b-(ii); c-(iii), d-(i), e~(iv)

RO —

Individual A performs to another individual
a behavioral act which has a fitness
consequence. Match the behavioral acts (a to
e) with the correct fitness consequence ((i) to

(iv)).

Behavioral act Fitness consequence to A
Cooperation (a) Gains direct fitness but
after delay (i) .
Adaptive altruism (b) | Loses inclusive fitness (ii)
Spite (c) Gain indirect fitness (iii)
Deceit and Gains direct fitness but
manipulation (d) immediately (iv)
Reciprocity (e)
1. a<(iv); b-(iii); c-~(ii), d-(ii), e-(i)
- 2. a<(i); b-(ii); c-(ii), d-(iii), e-(iv)
3. a=(i); b-(iii); c-(ii), d-(ii), e-(iv)
4, a-(ii); b-(ii); c-(iii), d-(i), e~(iv)
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137. 7t % =af¥a A, = B ¥ R o -139.mmm%#:m#m‘iaﬁrm
A F1 Fn aear ¥, a0 5w w4 € Ho: =30 | 9 el & vw aTeRRow
ﬁmwmmmﬁ.m:, #wzﬁrmm%m, HATH FHOT
STGFIAT THal # 407 12 ¥ R 6.12. % WY | (a) T AT Frearemar
RiY & 3R A = a7 TR =14 HARE 41 82 (b) 95% Frvare T o
T afed, AT I B I REOT aReewr @ =her
1. 3w s g TR FER
2. 3w sichshr & I (&) 18 1T 30, (b) IRFewa 3Ry
3. 3w oty a7 o 2. (2)20 7T 28, (b) IR I
4. 386 G ar g3 # : 3. (8) 20728, (b) IR T
137. Assume that individual A wants to do an 4. (a) 18 YT 30, (b) TRF=TT :
altruistic act to mdwld_ual B and that the 439, The number of seeds in the fruit of a plant species,
benefit and cost of doing this act are, in Ho : p=30. A random sample of 9 fruits gives the
‘fitness’ units, 40 and 12, respectively. mean number of seeds as 24 with a standard
According to ﬂaxpiiton’s Rule, A should deviation of 6.12. (a) What are the confidence
perform the altruistic act only if B is his limits for the sample mean? (b) Would your reject
;' zieel::tew- or accept the null hypothesis at 95% confidence
; ! level?
3. grandson or granddaughter . L. (a) 18 and 30, (b) reject the hypothesis
4. daughter or son. 2. (2) 20 and 28, (b) reject the hypothesis
: 3. (a) 20 and 28, (b) accept the hypothesis
138. TEuidcT O Fh o AT & e e 4. (a) 18 and 30, (b) accept the hypothesis
# ¥ A v wrer o ¥4
L 38& w3zt Y 4R = 4 e 'lw.wmtmwﬁﬁw-ﬁgmm
WIREaT : TUT et & o o7 UF FAMeA wiaver-
2. Wt ¥ 3w wEreT O A ey STRIAUT (ChIP) AT RRaT M1 1gG A c-mye
3. WS ¥ 3w waty Seure wea @ tﬁwnﬁtﬁﬁf%mﬂwamﬂmﬂw
&THar ' %mw:c-myca‘uamgwnmmm'r
4. I WE & DNA & w10 it PCR Fa¥e (Paw) & v s & w7 #
AR I & 3oy I 3UGNT ﬁm A | DNA & fa& PCR
wiaAttet # ¥ Saar w@ b
,‘(.
138. Which of the following is NOT a benefit for o ."_\""‘0
the female adopting polyandry? W o
1. Greater probability of getting all her eggs L |——mm
fertilized. 1
2. Ability to receive more resources from 2 I- Eihere |
the males. ;
3. Ability to produce more offspring than 3. | ——
normal, ;
4. Improved chances of genetic 4, |— B

compatibility with her own DNA.
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140. A chromatin immuno precipitation (ChIP) assay
was performed to determine specific transcription
factor binding sites on the promoter of a gene.
Pull down was done using either IgG or anti-
bodies against c-myc. A DNA containing c-myc
binding regions was used as a control for PCR
amplification (input). Which one of the following
PCR representations of DNA is correct?

(@L

. K
o N
W@ S

LA

141 =R & s fPeafFa oRdEs wqTa
T ogaE A, ITEA MWUT FAeln A HH
forar smar &1 @y #F oty WY wOE 3=
g gferfaat $r oferor gErr o @
Wt @ Af¥cafEadt & dor e §)
g7y ¥ Tg 9ar A fF SDS-PAGE
qiRdEr # A W dEwaw = ¥ 39
Pufe #, ts-3AT SDS-PAGE aur a&+
Mwor F I9AT B, QAT WA @ suiufy
N AT & F A, e & @ e
ASSIA 39 &7
1. 39 39 # 398 wieRfarar & oy 3w
T fawfa #T

2. SDS-PAGE/ATEA AWUT Hi ¥ TIge,
FIRFT-3rF 7 FAET-ITEIGOT AT TH
W& Fr e a1 S a@Har

3. siRNA E@RT UF §AY 9T TF W
Hf¥eafaa « wifFg =T qur ==
M7 T eSS

4. TR WNUT FA FHE, AFGACTANS
fBredl 9T HeRoT FF ot &Y
fawza/ger: qfetor & 3rehe e

141.In an attempt to detect protein expression

profile in a cell, Western blot technique is
employed. Expression of two new proteins is

142,

142,

GET IT ON
Google Play

to be followed by probing with respective high
affinity  antibodies (raised in rabbit).
Unfortunately, the two proteins were found to
co-migrate in SDS-PAGE profile. Under this
situation, using one dimensional SDS-PAGE
and by Western blot, which one of the
following is the best way to demonstrate the
presence of both the proteins?

1. Develop Western blots with their
antibodies in the same gel.

2. Prior to doing SDS-PAGE/Western blot,
one protein could be removed by
immuno precipitating in the cell extracts.

3. Silencing the expression of one protein at
a time by siRNA and performing Western
blotting.

4. Subjecting the technique of stripping/
reprobing of the gel after transferring to
nitrocellulose membrane while doing
Western blotting.

e Afeass wmenst & Rega whea

WiHT & ¥ & G & Afeass # AB0H

AN TR sEaTa Regamr 3T #FE 73

e Fewt & Ireader @ Rega w@dr f e

- FA g6 Ve & FROT A AT U

SUTEAT FT Tohd &

A. faegam & a & e afeas e
$6 dATH & IJAHGIT H HROT al |

B. Regam i Al @ OO FEEay &
TS gl § gt & ey # g
|

k- gwﬁmwmmm-m
Hfayfaa g2

D. fegam 1 A W W diww & gadd
Frd fasrg iy Qg # faegamat $r dreffpa
sufrafay & Fror gie gél

e # & FiF-ar W@ &
1. MTA 2. AGUTB
3. ATTC 4, CauD

Nichrome coated stainless steel electrodes
were implanted in a rat brain for chronically
recording the electrical activity of deep brain
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structures. During a study of 3 months the

intensity of _electrical signals gradually

decreased. The following statements may
explain the cause of this observation.

A. The deposition of metallic iron from the
clectrode tips caused degeneration of some
neurons.

B. The gradual accumulation of microglia at
the electrode tips increased the resistance
of electrodes.

C. The neurons at the electrode tips were
hyperpolarized gradually.

D. The threshold for firing action potential in
the neurons at the electrode tips was increased
due to prolonged presence of electrodes.

49

Which one of the following is correct?
1. Aonly 2. AandB
3. Conly 4. CandD

143. t& elv=rar FACS &1 91T #! 9T &% @7 o,
W A T afeet & amem & Oqer &
T AR afEt § uw e, C Gfadies
AT M), TF AE 1, S1 (FITC ey IFT),
U Al 2, S2 (PE e &) a9 Ifad, T
(& FITC W gem wfn) Facs AT Fr

aRome A R mar gl 144,
a. b. vl
R
PEl— PEPLEE
e |
FITC FITC
c d.
PE] e PEN—
FITC FITC
Tl ATHSIOT FqT grey arfew?

. 1. a82; bSl; &,T: d,C
2. &Sl b,T; i d, S2
3. a82 bSUT; ¢,C; dSIT
4. aSUT; b,S2; ¢, SIUT; d,C

143. A researcher wag repeating a FACS
experiment but somehow got confused with

GET IT ON
Google Play

the labeling of the tubes. There are “four
tubes, one control, C (with no fluorescent
label), one standard 1, St (with FITC label),
one standard 2, S2 (with PE label) and the
last one test, T (which should be FITC
positive). Given below is the result of the
FACS experiment.

d. J
pET .'.r-.
R
FITC
¢ d.
PEl———=—  pgf
FITC FITe

What should be the correct labeling?
I aS2; bSI; ¢T: d:C
ERS]; b.T: (1 d, S2
@S0  b,SI/T;c, Caid SI/T
4 aSI(T; b,S2; SI/T; d,C

o9 BN At WMfw g wfear
ﬁmm'#mﬁamgfma
WMW#WWWW
¢ fafdest At & oo # e =0
WRE W W@ 50 By @ &
W#mwﬁmarsﬂarz,’fﬂaim
FE A TS T Feohe dorar (A
T B) A offermier wikaar @ Rarh s
gl

@A
Luciferase
activity
B
°
Oll/water partitioning

coefficient
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ot Fuat & & wi-ar @ C. e AT AT IURGET & Heor H

1. AWEhe aur B AT §I Strageas® Fordel AT HIT ¢

2. A#HuEE dur BU@AT § D. 3aR0T R S arer Sfiel & ugEEey

3. AANUEE Fur B AMET B 3TET &R @ TGS &

4. AOAT Fur B WERT &) ITRFT FUAT § AT @O #§ @ Sia-ar
144, Small lecul igh ds affect ik

. oma molecular weig t compounds a eC .

the activity of luciferase differently. The L. ARHTE 4, Bghrc

oil/water solubility of various compounds is 3. AdurD 4. BAWD

one property important for its effect on _ . .
luciferase. The gtraight line in the graph was 145, Following are certain statements regardmg

obtained by plotting the activity data with 50 somat_ic hybridization, a technique used for
different compounds. The luciferase activity, plant improvement. ‘
of two new derivatives of Benzene (A and B) A. Protoplasts of only sexually compatible

plant species can be fused.

B. Hybrids are produced with variable and
asymmetric amounts of genetic material
of parental species.

are shown below:

® A

i ' C. Protoplast fusion permits transfer of gene
. block or chromosomes.
y D. Genes to be transferred need to be
identified and isolated.
T Which one of the following combinations of
the above statements is correct?
. . . 1. AandC 2. BandC
Which of the following statements is correct? - Nygmrp 4 BandD

1. A is phosphate and B is amine
2. A is methyl and B is amine
3. A is methyl and B is propyl
4, A is amine and B is phosphate

145, F1TAF HHIOT, IET Iewta & fow IgaRf
TH deheilen, ﬂ:m#faﬂ!wmm
foaa €
A. A fTE WO e wonfedt &

. ageas warda Y ST T B
B. Sl yonferdr & Ineafie werdt &

frafia au FEARAT AGT | FH

ITarfea R o §
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